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(Jharkhand Council of Educational Research and Training, Ranchi
(Jharkhand)

Second Terminal Examination - 2021-2022

Model Question Paper

Set- 1

Class-10 Subject — English

Full Marks-
40

Time- 1.30 hour

General Instructions:

» The Question Paper contains THREE sections — READING,
WRITING & GRAMMAR and LITERATURE.

» Attempt questions based on specific instructions for each part.

» Candidates are required to give their answers in their own
words as far as practicable.

» The total number of questions is 19.

Section — A ( Reading ) (10 marks )

I Read the passage carefully and answer any five of the following

questions:
(2*5=10)

Mass copying in the examination has reduced education to a joke. The lengthy
courses of study and the system of annual examination are the root cause of it.
How is it possible for any human being to express honestly within three hours, all
that he has learnt in full one year? Naturally, students are forced to cram certain
things and copy other from some source in the examination hall. The result of a




student should be determined by his performance round the year. The class
teacher should be entrusted with the difficult tasks. He will have to rise above
pretty worldly consideration and must be brave, impartial. His role in this
connection is very significant.

Q1. What has made education a joke?

Q2. What are the causes of mass copying?

Q3. How should the result of a student be determined?

Q4. According to the passage what qualities are required of a teacher?
Q5. Complete the sentence -

i) How is it possible for any human being

ii) Mass copying in the examination

Q6. Make a meaningful sentence with the word ‘performance’.

Q7. Give a suitable title for the passage.

Section — B ( Writing & Grammar ) ( 11 Marks )

Il. Q.No. 8 is compulsory ( 5*1=5)
Q8. Write a letter to your younger brother advising him to study hard
and avoid bad company.

OR, Write a letter to the Area Manager BSNL requesting him to get the serious
fault of dead telephones of your area repaired.

lll. Answer any two. Q.No. 11 is compulsory. ( 3*2=6 )

Q9. Write a paragraph on Discipline or Work is Worship.

Q10. Write a paragraph describing your last birthday party.



Q11. Fill in the blanks by choosing suitable option given in the brackets:

a) Mathematics considered to be a difficult subject among
students. (is/are)

b) Neither of the two boys in the class now. (is/are)

c) | bought the house belongs to Shyama. ( that/which)

Section — C ( Literature ) ( 19 marks )
IV. Answer any three. (3*3=9)

Q12. Read the extract given below and answer the questions that follow:
the smell of leaves and lichen

still reaches like a voice into the rooms.

My head is full of whispers

which tomorrow will be silent.

a) Name the poem from where this extract has been taken.
b) Who has written these lines?
c) What does the poet say about her head?

Q13. Read the Passage and answer the following questions: -

The baker usually collected his bills at the end of the month. Monthly accounts
used to be recorded on some wall in pencil. Baking was indeed a profitable
profession in the old days.

a) Where did the baker record his accounts?
b) When did the baker collect his bills?
c) Which word in the extract is a synonym of ‘business’?

Q14. What message does the poem “Animals” wish to convey?
Q15. Why did Bholi’s parents accept Bishamber’s marriage proposal?
V. Answer any two. ( 5%¥2=10)

Q16. How is bread an important part of goan life?



Q17. Give a character sketch of Ausable.

Q18. Whom did Horace Danby meet at Shotover Grange? How did the meeting
affect his plans?

Q19. Why does Valli refuse to look out of the window on her way back?
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Second Terminal Examination - 2021-2022
Model Question Paper
Set-2

Class-10 Subject — English Full Marks- | Time- 1.30 hour
40

General Instructions:
» The Question Paper contains THREE sections — READING,
WRITING & GRAMMAR and LITERATURE.
» Attempt questions based on specific instructions for each part.

» Candidates are required to give their answers in their own
words as far as practicable.

» The total number of questions is 19.

Section — A ( Reading ) (10 marks )

. Read the passage carefully and answer any five of the following
guestions: ( 2*5=10)




Kumar was cutting a branch of a tree in his garden. While he was sawing, another
man passed in the street. He saw Kumar, stopped and said, ‘Excuse me, but if you
continue to saw that branch like that, you will fall down with it’. He said this
because Kumar was sitting on the branch and cutting it at a place between
himself and the trunk of the tree.

Kumar said nothing. He thought, ‘This is some foolish person who has no work to
do and goes about telling other people what to do and what not to do.’

The man continued on his way. Of course, after a few minutes, the branch fell and
Kumar fell with it. ‘My God!’ he cried. ‘That man knows the future!’ and he ran
after him to ask him how long he was going to live. But the man had gone.

Q1. Why did Kumar think the man was foolish?

Q2. Why did the man stop on seeing Kumar?

Q3. When did Kumar feel that the man was right? What did he say then?
Q4. ‘future’ Make a meaningful sentence with the word ‘future’ .

Q5. Give a suitable title for the passage.

Q6. Complete the sentence —

i) While he was sawing,
ii) ‘My God!’

Q7. Noun form of ‘live’ is -

Section — B ( Writing & Grammar ) ( 11 Marks )
Il. Q.No. 8 is compulsory ( 5*1=5)

Q8. Write a letter to your uncle thanking him for a nice birthday gift.

OR, Write a letter to the Chairman, Municipal Corporation, Ranchi, about the
insanitary conditions of your locality.



lll. Answer any two. Q.No. 11 is compulsory. ( 3*2=6 )

Q9. Write a paragraph on ‘Importance of Games and Sports’ or ‘Importance of
Newspaper’.

Q10. Republic Day was celebrated in your school. Write a paragraph describing
the same.

Q11. Fill in the blanks by choosing suitable option given in the brackets.

a) All the news true. (is/are)

b) You and she each other. ( love/loves )

c) We were so late that we hear the speech. ( cannot/could
not)

Section — C ( Literature ) ( 19 marks )

IV. Answer any three. (3*3=9)

Q 12. Read the passage given below and answer the questions that follow:

Midway between Mysore and the coastal town of Mangalore sits a piece of
heaven that must have drifted from the kingdom of god. This land of rolling hills is
inhabited by a proud race of martial men, beautiful women and wild creatures.

a) Who are the inhabitants of the ‘land of rolling hills’?
b) Where does the piece of heaven situated?
c) Find a word from the passage which means ‘having to do with war’.

Q13. Read the extract given below and answer the questions that follow:
| sit inside, doors open to the veranda

writing long letters

In which | scarcely mention the departure

of the forest from the house.

a) Name the poem from where this extract has been taken.



b) Who has written these lines?
c) What does ‘scarcely’ mean here?

Q14. How are animals better than humans, according to the poet?

Q15. Why did Fowler want to meet Ausable?

V. Answer any two. ( 5*¥2=10)

Q16. When would the baker come everyday? Why did the children run to meet
him?

Q17. What did Valli find out about the bus journey? How did she find these
details?

Q18. How did Horace Danby plan his robberies?

Q19. Discuss the role of Ebright’s mother in making him a scientist?



Second Terminal Examination - 2021-2022
Model Question Paper
Set- 3

Class-10 Subject — English Full Marks- | Time- 1.30 hour
40

General Instructions:
» The Question Paper contains THREE sections — READING,
WRITING & GRAMMAR and LITERATURE.

» Attempt questions based on specific instructions for each part.

» Candidates are required to give their answers in their own
words as far as practicable.

» The total number of questions is 19.

Section — A ( Reading ) (10 marks )

I Read the passage carefully and answer any five of the following
questions:
(2*5=10)

Q1. Read the passage carefully and answer any five of the following questions: -

Japan is a country of islands which are connected to each other. It is famous for
industries. In a short span of time, it established various types of industries. Their
technology is advanced. Their electronic goods are used all over the world.

People of Japan are very health conscious. They like to take organic grains and
balanced diet. They are very laborious and hard working. They don’t waste their
precious time. They like to help each other.




Japanese have a lot of interest in computer games. They have developed games
like Pokemon, Contra which are favourite among Indian children too.

Japan is also called, ‘The Land of Rising Sun ‘because it is the eastern country on
the globe. The rays of the sun fall first on Japan and later on other parts of the
world.

Q1. Which country is known as the country of Islands?

Q2. What makes Japan famous all over the world?

Q3. Mention any two qualities of Japanese?

Q4. What Japanese computer games are liked by Indian children?
Q5. Why Japan is called the, ‘The Land of Rising Sun’?

Q6. Use the following words to make a meaningful sentence.

a. Favourite b. Precious.

Q7. Choose the synonym for ‘well-known’ from the passage.

Section — B ( Writing & Grammar ) ( 11 Marks )

Il. Q.No. 8 is compulsory ( 5*1=5)

Q8. Write an application to the Headmaster of your school requesting him to help
you from the poor boys’ fund.

OR,

Write a letter to you father requesting him to send you money to buy books.
lll. Answer any two. Q.No. 11 is compulsory. ( 3*2=6)
Q9. Write a paragraph on the ‘Importance of Health’ or ‘Morning walk’.

Q10. You were coming from your school and saw an accident. Write a paragraph
describing the same.



Q11. Fill in the blanks by choosing suitable option given in the brackets.

a) Each of us to win. ( hope/hopes )
b) The number of votes . (is/are)
c) He was so proud that he learn. ( cannot/could not)

Section — C ( Literature ) ( 19 marks )

IV. Answer any three. (3*3=9)

Q12. Read the Passage and answer the following questions: -

The most fascinating thing of all was the bus that travelled between her village
and the nearest town. It passed through her street each hour, once going to the
town and once coming back. The sight of the bus, filled each time with a new set
of passengers, was a source of unending joy for Valli.

a) What was the most fascinating thing for Valli?
b) What was the favourite past time for Valli?
c) Choose the opposite of ‘farthest’ from the passage.

Q13. Read the extract and answer the following questions:-
Not one is respectable or unhappy over the whole earth.
So they show their relations to me and | accept them,

They bring me tokens of myself, they evince

them plainly in their possession.

a) Name the poem from where this extract has been taken.

b) ‘So, they show their relations to me and | accept them’ - Who are
them in the line?

c) Which word in the extract means ‘show clearly’?

IIH

and



Q14. What are the two qualities of the Coorgi people?

Q15. Why do you think Griffin had misused his scientific discovery?

V. Answer any two. ( 5*¥2=10)

Q16. What did Rajvir see in the Dhekiaban tea Estate managed by Pranjol’s
father?

Q17. Why didn’t Valli want to go to the stall and have a drink? What does this tell
you about her?

Q18. Give a character sketch of Bholi.

Q19. How did a book become a turning point in Richard Ebright’s life?
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Model Question Paper
Set-4

Class-10 Subject — English Full Marks- | Time- 1.30 hour
40

General Instructions:
» The Question Paper contains THREE sections — READING, WRITING &
GRAMMAR and LITERATURE.

» Attempt questions based on specific instructions for each part.

» Candidates are required to give their answers in their own
words as far as practicable.

» The total number of questions is 19.

Section — A ( Reading ) (10 marks )

I Read the passage carefully and answer any five of the following questions:
(2*5=10)

Coal-tar is black and sticky. For a long time, people thought of it as a nuisance. This
oily, smelling substance blocked up the pipes, so gas-makers washed it out and tried to
get rid of it. Some of it was wasted. But this evil-smelling nuisance has been found to
be one of the most useful of raw materials in the world. From it the chemist is able to
make almost anything he wishes — from medicines to explosives, from dyes to
disinfectants. The most important things made from coal-tar are dyes. More than nine
hundred different coal-tar dyes are in common use. Many important medicines are
made from coal-tar. Carbolic acid is one such. Another is used by a dentist when he
pulls out a tooth. It deadens the nerves in the gums so that no pain is felt.

Q1.Why was coal-tar considered a nuisance?
Q2. What uses of the coal-tar are mentioned in the passage?
Q3. Name a medicine made from coal-tar mentioned in the passage.

Q4. Complete the sentence —



Coal-taris and

Q5. When does a dentist use the medicine that comes from coal-tar?
Q6. Make sentences with the following words —
i) Disinfectants ii) materials
Q7. Give a suitable title for the passage.
Section — B ( Writing & Grammar ) ( 11 Marks )
Il. Q.No. 8 is compulsory ( 5*1=5)

Q8. Write a letter to the Editor of Hindustan Times, Ranchi about the frequent
breakdown of electricity in your town.

OR, Write a letter to your friend congratulating him on his success.
lll.  Answer any two. Q.No. 11 is compulsory. ( 3*¥2=6)
Q9. Write a paragraph on ‘My best friend’ or ‘Harmful effects of watching ‘ T.V.’
Q10. Write a paragraph on ‘Your visit to a book fair.’

Q11. Fill in the blanks by choosing suitable option given in the brackets.

a) Each and every member to vote. ( has/have )
b) He cooking in his leisure time. ( enjoy/enjoys )
c) He is so weak that he walk. ( could not/ cannot )

Section - C ( Literature ) ( 19 marks )
IV. Answer any three. (3*3=9)

Q12. Read the given extract and answer.
All night the roots work

to disengage themselves from the cracks
in the veranda floor.

a) Name the poem from where this extract has been taken.
b) Who has written these lines?
c) Why do the roots work?



Q13. Read the given passage and answer.

The river, Kaveri, obtains its water from the hills and forests of Coorg. Mahaseer —a
large fresh water fish —abounds in these waters.

a) From where does Kaveri obtain its water?
b) State ‘true’/’false’ - Mahaseer is a small fish.

¢) What does ‘abound’ mean?

Q14. Mention three things that humans do and animals don’t.

Q15. How would you assess Griffin as a scientist?

V. Answer any two. ( 5%¥2=10)

Q16. Horace Danby was a meticulous planner but still he faltered. Where did he go
wrong and why?

Q17. How did Bholi’s teacher play an important role in changing the course of her
life?

Q18. Is bread an important part of goan life? How do you know this?

Q19. How did Valli save up money for her first journey? Was it easy for her?
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Model Question Paper
Set-5
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General Instructions:
» The Question Paper contains THREE sections — READING,
WRITING & GRAMMAR and LITERATURE.

» Attempt questions based on specific instructions for each
part.

» Candidates are required to give their answers in their own
words as far as practicable.

» The total number of questions is 19.

SECTION -A (READING) (10 marks )

I. Read the passage carefully and answer any five of the following
questions:
(2*5=10)

India and tea are so interwind together that life without the brew is
unimaginable. Tea entered our life only in the mid nineteenth century when
the British started plantations in Assam and Darjeeling! In the beginning
though, Indians shunned the drink as they thought it was a poison that led to
umpteen diseases. Ironically, tea colonized Britain where it became a part of
their social diary and also led to the establishment of numerous tea houses.
Today, scientific research across the world has attempted to establish the




beneficial qualities of tea - a fact the Japanese and the Chinese knew anyway
from ancient times, attributing to it numerous medicinal properties.

Q.1. When did tea enter our life?
Q.2. Why was tea shunned by the Indians in the beginning?

Q. 3. Which two countries knew the beneficial qualities of tea from the
beginning?

Q. 4. Suggest a suitable title for the given passage.

Q.5. Use the following words in framing meaningful sentences.
A. Unimaginable B. Disease

Q.6. Find the synonym of the given words from the passage.

i) discarded i) many

Q. 7. Complete the following: -

i) India and tea are SO ......ccecceeveveeevecceeere e .

ii) In the beginning though Indians........ccccccevvivvveiieeieee e, .

Section — B ( Writing & Grammar ) ( 11 Marks )
Il. Q.No. 8is compulsory (5%1=5)

8. Write an application to the Headmaster of your school requesting him to
make more books available in the school library.

OR, Write a letter to your younger brother advising him to take part in games
and sports.

lll. Answer any two. Q.No. 11 is compulsory. ( 3*2=6 )

Q9. write a paragraph on, ‘The happiest day in your life’.

Q10. You visited a historical place last year. Write a paragraph describing the
same.

Q11. Fill in the blanks with the correct option given below: -

a) Everyone ..........u...... finished reading the story. (has/have)



b) Bread and butter ..................... a wholesome meal. (is /are)

c) Teaisso hot thatit...............be drunk. (cannot /could not)

Section — C ( Literature ) ( 19 marks )
IV. Answer any three. ( 3*3=9)

Q12. Read the passage given below and answer the questions that follow: -

During our childhood in Goa, the baker used to be our friend, companion and
guide. He used to come at least twice a day. Once when he set out in the
morning on his selling round and then again when he returned after emptying
his huge basket. The jingling thud of his bamboo woke us up from sleep and we
ran to meet and greet him. Why was it so? Was it for the love of the loaf? Not
at all. The loaves were bought by some Paskine or Bastine, the maid-servant of
the house! What we longed for were those bread-bangles which we chose
carefully. Sometimes it was sweet bread of special make.

a) Name the chapter from where this passage has been taken?

b) When would the baker come every day?

c) Why did the children run to meet the baker?

Q13. Read the extract given below and answer the questions that follow: -
| think | could turn and live with animals,

they are so placid and self-contain’d

| stand and look at them long and long.

a) Name the poem from where these lines have been taken.

b) Name the poet.

c) Why does the poet want to turn and live with animals?

Q14. What is the story about the Kodavu people’s descent?
Q15. Why was Sulekha nicknamed Bholi.



V. Answer any two. ( 5*2=10)

Q16. What was a source of unending joy for Valli? What was her strongest
desire?

Q.17. Griffin was rather a lawless person. Discuss.
Q.18. Who was Fowler? Why did he enter Ausable’s room?

Q. 19 What are the elders in Goa nostalgic about?
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E‘UB'-?T(W)
Y for I1T yeAT & 3R fST- 4 x3=12

wRel 6. 39T gTordl T gfd & fAw 3mq grder & HfaRed 3 Far A v W 82
faf@T|
YR 7. ‘B el §H Thar N H Rl AT golgeT FAT gl I T §7
3rerar
‘T Tl §H ey Md &1 gfaurey 3r9e e # v
U 8. Tfshol & TG hUel foh A Uk A1S off G # 8. FATST #T fohd areaiaehar
&I 3T Tohd T 872
q%ﬂQ.%é?Wqulﬁ'%qcpd"l?WWWWWQWW?
3rerar
AGH HT Ucadl I TW&SHr F SATell FIT @TE@TAT JaI?
92T 10. REX FIPT & Y A% JI ASAT AT IR FAT Sl IAT? 1x3=3

®US - § (3T )
g2 11. TAELT 3ITURRT HT 39 HAlgeo FT Iecdil & AT & Tah Rhrad 97
IGIEE 1x5=5
372rar
faarsly o1 faearers & arf¥eicad & quid #d gu a9 fafe]



geT 12. feT 91T Fhd fowg3it & IR W Aefaf@a # 8 el e favg w
ITeoe faf@u . 1x5=5
(& ) gar3il W gIeeleT HT T
(Fhel Toig- TecTaelr , Aellolel Td RAT 7 Aue |, 9o, sy
3ar

(@) A 3TeeT AQGIYRW
( Tohd foig- i@t 5o, RIGT, §ATST Ud ¢ & Ui TerersT , 3UHER)
geeT 13 . T H gl AL - 5§ G H o AT & &9 "@arg Af@ul 1 x 5=5

% % % 3k % k% k % *k k



snEs ABF I va yfdreror aRwg, W (REs)
gfadr wrafas gdiam (2021- 2022)

ATSST 9&T-9F He-5
Her-10 QY- fger &r gHaT-1 "er 30 fAace quiier-40
AT fAder-

> gdiemed T g & smr-dteh F IR &
> 36 W99 & IR @3 gl gy @ & et FT 369 &1 AfAa g
> st weaT & v AURT 3w 39F G 399 7 3ifFa g
> oAl & 3 39& A1y fRr Adet & e & & Al
> 2 3{F & YET & AT NI 20 Asal A, 3 HF F UEAT & AT ATHT 50
greel #, 5 3F & WeAT F Ia¥ T 150 Usar H
@s-& (3rufesa aer)
A fEU T qeAeT I LTS Tea [T 91T 9ot & I Haw # dfav ¢ 2x3=6

‘TeT AT H

AR A T ATAGT H|

TqeA gl 9T ATfaes Siiae & 9 H|

Aol HaAT

radr § g9 SV Hali H

EaT ¥ TS o A e ¥

Ir Y

AT § IR Tl Sfeal &

Id & WIdd W T Fr o= g
URT-1. Hig FI deT gl &7
UReA-2. Hid e H AT FoIT AR 572
UeT-3. Hid &l Sliged Har g?

TS-@ (SATHI0T)
fAdemgar 3ev Afsre 2x2=4

UR-4. T g T8 HEd 87 3GV Aigd FHSC
32T
I a1 3R G areg H HA TS A

WRe-5. ‘dieel R T off S8 A arry A GIoFd aFT H Feel|



31dar
FYRAT ISR TS Fhi{h 38 U3 Tleal & T I o I H deol |
G- (YISAYEAF)

Arafaf@a ge&al & 331 fST 3x5=15

gRA-6. TYHI SATEAT Y. -
TSier T&=1 & AlF#A 9§ § #R
ST ol I T UST AT el
g&T 3R 32 Qledl T AT Y
gg Same St @ # gl Ser
3rar
‘FT T gH ey Ma 7 wfa o ‘@Al daust 1 y3er fFas fow Far 72
-7, “TcHATOT Hiddl H Hig FId 3R Fr grdar &7 @ g2
9Re-8. fo¥eT WIeTell &1 Siiael TR= J&dd Hhifau?
3rar
3T Fgl gAA & g@ ¥ gl g are’ MIF 915 & HYR W Fa0 & doc g5
JTETET T JATGROT WX FT GHTT 93T 872
UReT-9. AT & TRT I [FAVATHT 1 FoTeT w2
9ReT-10. HEA &I ST Ao gRET Flhl fhA gfaem & oy IT? U6 & MUR W TS
HIT|

Gs-g (3TT)

9ReT-11. EIET T AEY W 3HYeT FUTATEATTh T 3T & 3dee [ | 1x5=5

37qar
HIS T AT W 39 AT A v FeEor oF fod|

IRA-12. QU a0 Hehel fowgait & MR W 3feade fod - 1x5=5

(). RET & ATgT Bl T STATNAT- (Fehe fog: §fAST, Hgualer, guumT, f@say)
37ar
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IREs Afdh rgaU Td ufdaror aRve, A (3IREs)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
e grafde adiem (2021-2022)
Second Terminal Examination (2021-2022)
Al GA-UF

Model Question-paper

A1 (Set-1)
aai- 10 faw-arforg quife- 40 THY - 1 Her 30 e
(Class-10) (Sub-Mathematics) (F.M-40) (Time-1 hour 30 minutes)

AT fAS2A- (General Instruction)
> et guEHa 3ua reel #H 3R &

(Examinee write answer in their own words as far as practicable.)

> Pl UHT P HEAT 19 B
(The total number of questions is 19)

> UA HEIT 1 ¥ UH T 7 a6 ATdgadd A § 58 & fhedl  Org usl & R
QAT vAF um & A 2 3w AuiRa R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions . Each question carries 2 marks.)

> OF HEIT 8 ¥ UH WEAT4 db ogealid UF &l 39 & foheel 5 UMl & 3R
QfST| uRs us & A 3 3w AuiRa &
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> U TEIT 15 T A TEAT 19 dh SrU3adT U &1 3 & foheel didd U8l & 3w
QfST| ucd® UM &1 AT 5 3w FUiRa #
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

fag3fl (-5,7) TUT(-1,3) & &1 B A AT HIFATI

Find the distance between points (-5,7) and (-1,3).

gf& sin A =3, B d) cos A 371X tan A BT HH JTd HIFTI

If sin A =% then find the values of cos A and tan A.

HT 3ATd HIfSAY (Evaluate):

2 tan? 45° + cos? 30° - sin?60°

ﬁ?\ﬂ @9 (Prove that):

c0s38°cos52° - sin38°sin52°=0

7cm f3=91 TAT 5cm H9TE 916 eTa-gfRig A6 T 39 AT BT |
Find Volume of a right circular cylinder having radius 7cm and height 5 cm.
e, ATfEqehT aUT 9601 & &g Udel 18U |

State relation between Mean, Median and Mode.

U T &1 b 91R Wb S11d1 81 Ffafad &) ure &3 HY uifiesdr sird HIifg:




9.

10

11

12

13.

14.

15.

16.

17.

@ UE fauad=aT (b) U A9 HAT
A die is thrown once .Find the probability of getting
(a) an odd number (b) an even number

Sec B

fag3il ( 5, -6) 31 (-1,-4) B 3AE AT WIS B Y-3781 fomw 317uTa A fawnfsia et 21
Find the ratio in which y-axis divides the line segment joining the points (5,-6) and (-1,-4).
39 VST ABC T 8% JATd Iy, 583 M A (5,2), B (4,7 3R € (7,-0) ]
Find the area of triangle ABC, whose vertices are A(5,2), B (4,7) and C(7, -4).

RA R UG AR SAfR @ A TR P figd smyREaffgadAr &
ARG’ BT 3991 BT 60° &1 AR B FHaATE AT HIFY |

A tower stands vertically on the earth. From a point 15 m away from the foot of the
tower,the angle of elevation of the top of the tower is 60°. Find the height of the tower.

. gfE tanA = cotB ﬁ,ﬂﬁgﬂﬁﬁuﬁiA+ B=90°

If tanA= cot B, then Prove that A+B= 90°.

. 7.6 cm TTET U RARaS WY 31k $9 5:8 ¥ fawnfsa S5y

Draw a line segment 7.6 cm long and divide it in the ratio of 5:8.

5 cm f359T & U ga W QY T Y10 TR, 51 WRER 60° & BT WR S[h 81

Draw two tangents to a circle of radius 5 cm, which are inclined at an angle of 60° to

each other.

U 4a1 0 1 &1, 5 BTt 3117, 3 et e 21 faam 4@ & 3rev o1fd, sl A g e
FrTardt 21 s Fa1 i @ fs ag i
(@Q®EIE? (DTATEE? (oA E?
A bag contains 1 red ball, 5 black balls and 3 blue balls . Nisha takes out a ball without
looking into it. What is the probability that she takes out the
(a) Black ball ? (b) Red ball ? (c)Blue ball ?

See c
7m F U a & RIER | U Had clar & R BT 3797 DI 60° & 317 306 IS
BT 3TTTH BT 45° &1 STaR B H4TE ST S |
From the top of a 7m high building, the angle of elevation of the tower is 60° and the
angle of depression of it’s foot is 45°. Determine the height of the tower.

o fQdT &) T 3.5 cm 910 TP X$ & PR FT ¢, ot ST Hiar arat srefia w
ARG 81 39 fAe= &t wwgel S 15,5 cm 81 39 fAe= &1 9wyl gdia gawa
T BT

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of the same
radius. The total height of the toy is 15.5cm. Find the total surface area of the toy.

TH 3, T& I W TS TP P & MHR P ¢ P! BN 1cm & TUT TF BT Hdls
D! ST & TSR g1 U 3N BT A it b Ual 8 J1d Hiforg |

A solid is in the shape of a cone standing on a hemisphere with their radius being equal
to 1 cm and height is equal to its radius. Find  the volume of the solid in terms of Tr.



18. o 3Tl A "1em 71 HFT

Find the mean of following data:

Tt 3TaRTeA 0-10 10-20 20-30 30-40 40-50 50-60
(Class-interval)
TRARCT 5 8 10 3 8 6
(Frequency)
19. 1 3iTw3) i ArfeaesT sira AT
Find the median of following data:
aqif 3TaRTe 10-25 25-40 40-55 55-70 70-85 85-100
(Class-interval)
TRARCT 2 3 7 6 6 6

(Frequency)




FREs Af&d HgEaT vd ufaror aRug, T (FIRES)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
gl arafees qdiem (2021-2022)

Second Terminal Examination (2021-2022)

Al UA-UF

Model Question-paper

qe-2 (Set-2)
ai- 10 fwg-aifora quTidh- 40 A - 1 HeT 30 e
(Class-10) (Sub-Mathematics) (F.M-40) (Time-1hour 30 minutes)

AT fASA- (General Instruction)
> qeTdf garEdT e reel # 3R &)

(Examinee write answer in their own words as far as practicable.)

- ER e RS
(The total number of questions is 19)

> UF HEIT 1 ¥ UH &A1 7 deb ATAgadd UH B 3H A fhedl ura usl &b SR
AT g us o1 AT 2 3id FAIRT R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UF HEIT 8 ¥ UH WEAT 14 db olgealid UH &1 39 & fohedl 5 Ul & 3
QST g% uH &1 AT 3 e FUiRa R
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U TCIT 19 dob SU3aiT UH &1 38 § fheel e uslf & 3R
QST A% us &1 71 5 3w [AYRAT ®)
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag31Y (a,b) AT (-a,-b) & 1 B g FATd HfFYI
Find the distance between two points (a,b) and (-a,-b).
2. Tf& 15cotA =8 &1 ,aY cos A BT A AT HIfUI
If 15cotA=8, then find the value of cos A .
3. HIF 3ITd HIfT7 (Evaluate):
sin60°cos30°+ sin30°cos60°
4. sin67° + cos75° I 0° A 45° aTM PO m*ﬁﬁmml
Express Sin67° + Cos75° in term of Trigonometric ratio of angle between 0° and 45°.
5. U AP HI fadsd A€ 16 cm # 3R 3gR A 54T 14 cm ¥ 39 ISP FT IFH B
AAB Td HIAY |
The slant height of a cone is 16 cm and the radius of the base is 14 cm. Find the curved
surface area of this cone.
6. x-a, X , x+a @I AT AT BN |
Find the mean of x-a, x , x+a.




7.

8.

9.

10

11.

12.

13.

20 gl & TP AE § 4 909 GG ¢l $9 ¢ ¥ | & 909 1041 BT it &
D! T Tfsan 2 {3 g8 aow
(i) TR 8 ? (i) TRIG TET & ?
4 bulbs are defective in a group of 20 bulbs. One bulb is drawn at random from this
group. What is the probability that this bulb is
(i) defective ? (ii) not defective?
Sec B

39 fig & Fi&nis s S0 N g (4,3 3R 65 B 51T @ YaRIE B
3HTafies ¥9 ® 31 & quTd ¥ fauifsra wvar 8

Find the coordinates of the point which divides the line segment joining the points (4,-3)
and (8,5) internally in the ratio 3:1.

K &1 HTH ATd D51y drfes fw a1 fag Ivat &
Find the value of K so that the following three points are collinear:

(8,1), (K-4), (2,-5)

. U &R gl Y W & fAU 15m 541 v fipaer= ugh e €, 3 yfiy & |y

30° & BIUT UR S[HT §311 81 fpHeT ug) B o1aTs ATd B

A contractor installs a slide 1.5 m high, which is inclined at an angle of 30° with the
ground, for the children to play. Find the length of the slide.

2 sin 3A = cos (A- 26") 81, 5761 3A U g4 HIUT §, @Y A ST 0 AT HIFYI

If sin 3A = cos (A - 26°), where 3A is an acute angle, find the value of A.

5cm, 6cm 3R 7cm YST3HT a@ U st &1 3991 SIS0 3R 5 6% 90¥0 U
319 =1 Y 391 HIfSTY, G =0 A 50 Hiyst &1 Fvra st & 7/5 T
Construct a triangle of sides 5cm, 6cm and 7cm and then construct another triangle
similar to it, whose sides are 7/5 times the corresponding sides of the given triangle.
6em ST &1 U g €T | &g ¥ 10em T BAq vh Rg & g7 W T W@w
A i @ Hfaw |

Draw a circle of radius 6cm. Construct a pair of tangents to the circle from a point

10 cm. away from the centre.

14. U UTH ) Uh IR Bl 51T 81 Fafef@Ed & ure oA & uifiesdar sira HIif3g:

(i) 5 A ISt Up TTAT (i) U I9 JAT (i) Ub 159 IAT

A die is thrown once. Find the probability of getting the following:

15.

16.

17.

(i) a number greater than 5 (ii) an even number (iii) a composite number
Seec

TP TR & gTe-fag & 76 HaT & RRR ST 30T HIvT 30° B 3R vaa s us fag @
AR & IR &1 3999 BT 60° # [AfE MR B FHa1E 50 MeR 8, a va= & Harg
T B3I

The angle of elevation of the top of a building from the foot of a tower is 30° and from
the foot of the building the angle of elevation of the top of the tower is 60°. If the
height of the tower is 50 m, then find the height of the building.

AT 7cm TTA U TATHR sA1d & HUT U 3TUTAT 7@ §311 § | 31eima o1 31feraan
TH FGT 81 HHdT € ? 30 UBR a1 S B1 Y81 ATBa AT B

A hemispherical block is placed on top of a cubical block of side 7cm. What can be the
maximum diameter of the hemisphere? Find the surface area of the solid thus formed.

U 5[H 999 d1dT 3797 UTead! o1 faT ¥ a1fy my firemal A ga ar 9n ae= e
fireT &1 31TafYes AT s5em 91, U fire & el 31em & U 34T §311 31edmire
g1 {5 firema A enfar 0 @ sirat Wiafe e B 5918 10 om 41, a i &1
qrEdfae grfyar SiTd Byl



A juice seller used to give milk to his customers from the glasses shown in the figure.
The inner diameter of the cylindrical glass was 5 cm, but the lower base of the glass had
a raised hemisphere which reduced the capacity of the glass. If the height of the

glass was 10 cm, find the actual capacity of the glass.

18. 3w 3iTereY A m1en T HifS0:

Find the mean of following data:

aif 3T 0-20 20-40 | 40-60 60-80 80-100
(Class-interval)
CIECIEG] 17 28 32 24 19
(Frequency)
19. FH 33 s ATfeaesT sira HIf5:
Find the median of following data:
Tt 3TaRTeA 0-10 10-20 20-30 30-40 40-50 50-60
(Class-interval)
TRARAT 5 8 20 15 7 5
(Frequency)




FREs Af&d HgEaT vd ufaror aRug, T (FIRES)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
gl arafees qdiem (2021-2022)

Second Terminal Examination (2021-2022)

Al UA-UF

Model Question-paper

Ae-3(Set-3)
afi- 10 fwg-afora quTidh- 40 AT -18er 30fEe
(Class-10) (Sub-Mathematics) (F.M-40) (Time-1hour3Ominutes)

ATATT fASA- (General Instruction)
> qeTdf garEea e reel # 3R &)

(Examinee write answer in their own words as far as practicable.)

- ER e RS
(The total number of questions is 19)

> UF HEIT 1 ¥ TS &A1 7 de Hidegadd UH & 3aH & fhdl urar wsl & 3R
AT g us o1 AT 2 3id FAIRT R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UF HEIT 8 ¥ UH WEAT 14 db olgealid UH &1 39 & fohedl 5 Ul & 3
QST g% uH &1 AT 3 e FUiRa R
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U TCIT 19 dob SU3aiT UH &1 38 § fheel e uslf & 3R
QST A% us &1 71 5 3w [AYRAT ®)
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag31 (3,7 41 (2,-3) & &g B Y FATd B
Find the distance between points (-3,7) and (2,-3).
2. TfesinA =3/5 81,4 cotA 3R secA BT 71T FATd HIfATI
If SinA=3/5, then find the value of CotA and SecA.
3. HIF 3ITd HIfT7 (Evaluate):
2sin30°co0s30°
4. g @ifore (Prove that):
tan48°tan23°tan42°tan67°=1
5. 14 cm 30T AT 31 BT T35 IEIT ATHBA FAT BRI
Find the curved surface area of a hemisphere of radius 14 cm.
6. M fGw v Hips! & FOA qREARAT GROf & fAAor ST

Find the cumulative frequency table from the data given below:

I el | 0-5 5-10 10-15 15-20 20-25




(Class-interval)

qFIRAT 10 15 12 20 9
(Frequency)

7. 370 YbR A e 718 52 Unl & U T A U U I1gesdT STt ST 81 sHb
Uit FATd &1 fob fArasTeT Tar us:
(i) FTT 31 BT dIGRIE (ii) TP gPpH BT Ul
One card is drawn at random from a pack well- shuffled deck of 52 cards. Find the
probability of getting (i) a king of red colour (ii) a spade
Sec B
8. ufE fag (1, 2), (4, y), (x, 6) 3R (3, 5) 3 HH ¥ A W, U AATAR TG & M &1 aY x
3R y JITa HIfFYI
If the points (1, 2), (4, y), (x, 6) and (3, 5), taken in order, are the vertices of a
parallelogram, then find x and y.

9. 39 Y31 ABC &1 9% AATd HIFST, 55 M A (1,-1), B (4,6) 37 € (3,-5) B
Find the area of triangle ABC, whose vertices are A (1,-1), B (4,6) and C (-3,-5) .

10. HbH PT Ub BIHTR 20 m 1! Yeb SIX) U I 76T & 311 30 R A a1 g e auT U
WY F e A 96t g 2 1 AT O &1 Yfr S TR A T HI0T 30" A, A AN B HaAE
ST A
A circus worker is walking on a string 20 m long which is well taut and is tied to the top
of a pole. If the angle of the string with the ground level is 30°, then find the height of
the pole.

11. Gf& tan2A = cot (A- 18") 81, 5T6T 2A Ueb g BIUT & &Y A BT AT AT HIAYI
If tan2A = cot (A - 18°), where 2A is an acute angle, find the value of A.

12. 4cm, 5cm 3R 6cm YST3HT aT@ U st & w@1 HIif5o 3k R s0d a9 a Ua
31 1 B T BTy, FFeBY =T 2 5O Frgst Y ATt sy Y 2/3 T A
Construct a triangle of sides 4cm, 5cm and 6cm and then construct another triangle
similar to it whose sides are 2/3 times the corresponding sides of the given triangle.

13, 4cm 3T &1 v g FifAw | &g @ ecm ¥ A U g & ga W T @ oA
& T B |
Draw a circle of radius 4cm. Construct a pair of tangents to the circle from a point 6
cm away from the centre.

14. U 41 & 5 A7, 8 A< 31 4 R AT & | 580 A U Ade 1gesdT FHaTet s 2l
D! T UTiipar & 5 a8 ordar:
(@) HBE §? (b) FTET 8 ? () S AETE ?
A bag contains 5 red , 8 white and 4 green marbles . A marble is drawn at.
random. What is the probability that the drawn marble is
(a) White ? (b) Red ? (c) not a green marble?

See c
15. 3Tl 3T | TS U3 ge SiTar & 39k ger §31T ¥ $9 a3 q3 SiTal @ {6 93 &1 iR

ST Y P AT # 31R 3US A1Y 30° BT HIT I # | U5 & UTe fig H1 gt 6T U3
&1 AR 7 B gaT &, 8 m 2 195 61 FHars ATa B



16.

17.

18.

19.

A tree breaks due to storm and the broken part bends so that the top of the tree
touches the ground making an angle 30° with it. The distance between the foot of the
tree to the point where the top touches the ground is 8 m. Find the height of the tree.

a1 AT, 5 A UAS &7 314 64 cm? @ & T Boid! &I @SR U 819 a=mam
ST & | $H UTG g1 &1 Y81 46 ATd B |

2 cubes each of volume 64 cm3 are joined end to end. Find the surface area of the
resulting cuboid .

HaTE 220 cm 3R TR ATH 24cm aTA U 714, 5/ IR F41€ 60 cm 3R 918 cm
AT U 39 dd1 HRIUG 2, A @R &1 U a9 a7 81 $9 T &1 GoHu= AT
B, sTafes foam & 6 1 cm3 @18 BT ZHT= 7T 8 g BT 81

A solid iron pole consists of a cylinder of height 220 cm and base diameter 24 cm, which
is surmounted by another cylinder of height 60 cm and radius 8 cm. Find the mass of
the pole, given that 1 cm?3 of iron has approximately 8g mass.

o 31Tl A m1en sira B0

Find the mean of following data:

I IR 50-60 60-70 70-80 80-90 90-100
(Class-interval)
CIECIEGI 8 6 12 11 13
(Frequency)
e 317h3) A 957 JATd HIHAT:
Find the mode of following data:
it 3TaRTe 0-6 6-12 12-18 18-24 24-30 | 30-36 36-42
(Class-interval)
IRARAT 6 11 25 35 18 12 6
(Frequency)




FREs Af&d HgEaT vd ufaror aRug, T (FIRES)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
gl arafees qdiem (2021-2022)

Second Terminal Examination (2021-2022)

Al UA-UF

Model Question-paper

Ac-4 (Set-4)
Tar- 10 fawg-aifora quiich- 40 a#g — 19e1 30 fAae
(Class-10) (Sub-Mathematics) (Time- Thour 30 minutes)
(F.M-40)

AT AS2A- (General Instruction)
> gt gUrEHT 39 et H IR Sl

(Examinee write answer in their own words as far as practicable.)

> Pl usl Hr FEam 19 B
(The total number of questions is 19)

> U HEAT 1 ¥ UH HEAT 7 dd Aol uH ¥ s @ fhelr arer ust & 3R
QST s uy &1 71T 2 3w AU R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UH HEAT 8 ¥ UH HEAT 14 d YT UH E| 5 A fheel 5wt &b 3R
QAT vAF uH & A7 3 3w AR &

(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U T&IT 19 dob Susadd Uy &1 38 & el i usff & 3R
AT U uH &1 AT 5 3 UG §)

(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec-A
Q1. x-3aT W g% g wra Hifaw & (2, —5) AR (-2, 9) ¥ HAGTEY ¥
Find the point on the x-axis which is equidistant from (2, —5) and (—2,9).

Q2.3f¢ cos A = 8/15, sin A 3R sec A & AA AT HIfAT|
If cos A = 8/15, calculate sinA and sec A.

Q3.3f¢ tan (A + B) = V3 3R tan (A — B) = 1/V3;
0°<A+B<90°%A>B, df A 3R B & a1 a1d Hifav|
If tan (A + B) =V3 and tan (A — B) = 1/V3; 0°<A+B<90° A >B, find A and B.

Q4.7f¢ ATET=60 IR ARFHT=50 &1 A TgeTsh AT Do |

If mean=60 and median=50, then calculate mode.

Q5.3f¢ P(E) = 0.05 &, dl ‘E &l & urifiepdr &ar g2
If P(E) = 0.05, what is the probability of ‘not E’?)

Q6.3 P &I HAdA A PG fFah Fsar 3R 5o HaAer: 6cm3iR 8em B



Find the volume of the cone whose radius and height are 6 cm and 8 cm respectively.

Q7.fc@rsT & (Show that):
tan 48° tan 45° tan 42° = 1
Sec-B

Qs.ﬁg%Aasﬁéanﬁmaﬁrﬁv,aﬁABmﬁqawm%%wéﬁ(2,—3)
dar B & e (1, 4) B

Find the coordinates of a point A, where AB is the diameter of the

circle whose centre is (2, — 3) and B is (1, 4).

Q9. frg ffaw & fAg¥ A1, -1), B(2, 1) 3R C(4, 5) & ¥
Prove that the points A(1, -1), B(2, 1) and C(4, 5) are collinear.

Q10. Hf& & T fdg @, St HEAR & ure-fdg @ 30m H g W ¥, MR & Rrax
Colero e 30° &1 AR fir 3= 19 Hifow]
The angle of elevation of the top of a tower from a point on the
ground, which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

Q1.afg A, B 3R C Y ABC & 3id:®ivr &, dr fg@rse fh:

If A, B and C are interior angles of a triangle ABC, then show that :
sin[(B+C)/2]=cos(A/2)

Q12. 8.6 cm ol Teh IWES WITAT 3N 34 3 : 5 3gurd # fawrfaia Hfow|

(Draw a line segment of length 8.6 ¢cm and divide it in the ratio 3 : 5)

Q13. 3 cm T & e ga Wifdw| 8% Rl 9o 0 <O W &g & 7 cm .
gl W Y g1 g P 3R Q <NfSw| g gt g3 & g W Tusl Y@
gifau|

Draw a circle of radius 3 cm. Take two points P and Q on one of its
extended diameter each at a distance of 7 cm from its centre. Draw
tangents to the circle from these two points P and Q.

Q14. TH U FH 90 BEF (discs) &, 57 W 1 & 90 T T&aw 3ifra &1 afe
3 U # O U BT I Qe Sy § O sgdh wiRkear g fifsw
fr zu fovd W 3ifha aef: (i) & 37l & T F&A1 (ii) Th qoul 99 &
(iii) 5 ¥ AT T FET|
A box contains 90 discs which are numbered from 1 to 90. If one
disc is drawn at random from the box, find the probability that it
bears : (i) a two-digit number (ii) a perfect square number
(iii) a number divisible by 5.
Sec- C

Q15. AR & INUR A IR Th WA W FH 4 m 3R 9 m A g W BT @
fiig3t @ MR & REX & seag= HIoT @b BT &1 &g f&p #far &
>d1$ 6 m T
The angles of elevation of the top of a tower from two points at a
distance of 4 m and 9 m from the base of the tower and in the same
straight line with it are complementary. Prove that the height of the
tower is 6 m.



Q16.7hEl & Th B Tolel & Ycdeh Y W Teh Il Wighy fASIeId §T, Teh aF]
qars S ¥, Sar fF amepfy F ot ¥ IR dee i Fard 10 em ¥ 3R
YR & BT 3.5 cm & @ 38 ag & TYUT GBI &T%dl A Do |
A wooden article was made by scooping out a hemisphere from each
end of a solid cylinder, as shown in the Fig. If the height of the cylinder is
10 cm, and its base is of radius 3.5 cm, find the total surface area of

the article.

Q17.T% 3H H, 3915 120 cm 3R AT 60 cm arelm TH QA
B arer T 31N WX IR §1 39 39 @ Uy

ﬁ%mﬁmmﬁmm%ﬁﬁﬁmaﬁraﬁraﬁ
351 60 cm & 3R A1 180 cm & o I A AW aﬁmﬁ’raﬁrmﬁm

ST

H‘fi—fﬂ'ﬁlﬁ% GﬁGOcm

CRINECEE]
aﬁluﬁaaaaﬁr

A solid consisting of a right circular cone of height 120 cm and radius 60 cm
standing on a hemisphere of radius 60 cm is placed upright in a right circular cylinder
full of water such that it touches the bottom. Find the volume of water left in the
cylinder, if the radius

of the cylinder is 60 cm and its height is 180 cm.

Q18. AT 3THaT T AT 62.8 &, dd I IRARAT x AT HIfoT

The mean of the following distribution is 62.8. Find the unknown frequency x :

T 3 0-20 | 20-40 | 40-60 | 60-80 | 80-100 100-120
(Class Interval)
IRERAT 5 8 X 12 7 8
(Frequency)
Q19. @ 31l &t s ad HifFA|

(Find the median of the following distribution.)
T AT 0-8 8-16 | 16-24 | 24-32 | 32-40 | 40-48
(Class Interval)
IRIRAT 8 10 16 24 15 7
(Frequency)




IREs AT HqHYUE Td YRIETor IRug, U (FIRES)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
o aafe gfiem -2021-2022
Second Terminal Examination - 2021-2022
Al UH-UF

Model Question-paper

He-5 (Set-5)
aai- 10 quTidh- 40 THY - 16e130 e
(Class-10) vg-arforg (F.M-40) (Time- 1 hour 30 minutes)
(Sub-Mathematics)

AT [AS2A- (General Instruction)
> qendf gUrEHT U reet F IR &

(Examinee write answer in their own words as far as practicable.)

> Pl AT B FEAT 19 B
(The total number of questions is 19)

> UF HEIT 1 ¥ UA H@EA1 7 db Afdegady un §1 s @ e ofg usl & s
QfST| u3® un &1 AT 2 e AR §)
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions . Each question carries 2 marks.)

> UH HEAT 8 ¥ UH HEAT 14 I T UH T S @ fhegl 5wl & 3R
QfST| U us & A 3 3 FAUiRa B
(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 § U TCIT 19 dd Guzald U &1 598 & foheel did U8l & 3w
QST UAd g @1 A 5 3 AuiRa R
(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec A

1. fag3iY (2,3) AT (4,0 & T HY g FTd BTN
Find the distance between points (2,3) and (4,1).

2. gfEsecA=13/12 & ,4YsinA 311X tanA BT A JTd HIFTI
If secA=13/12, then find the value of sinA and tanA.

3. HH AT HIfFAY (Evaluate):
2tan30°cos30°

4. cot85 + cos75° P 0° N 45° AT FABIUIECIT 377Ut & Ul H e HIf3rUl
Express cot85° + cos75° in term of Trigonometric ratio of angle between 0° and 45°.

5. U UG B HATE 12 cm & 31 IR B 01 7 cm 1 380 IG5 ST GG AT S0
The height of a cone is 12 cm and the radius of the base is 7 cm. Find the volume of this
cone.

6. 10 fepbe Fal H v dleqarar gRT T a1v fadbe Hr g&a7 fAFafafad & -

2,6, 4,5 0 2,1, 3, 2 3
8 3iiehsl T dgeieh FAId HIAT |

The wickets taken by a bowler in 10 cricket matches are as follows:




7.

9.

2,6,450,2,1,3,2,3
Find the mode of the data.
o1 &) i Ryder! B T 1Y ISTA § | 39D! 1 Wiidsar & a8 o0 F »H 1 fad ura
Hfl ?
Shreya tosses two different coins simultaneously. What is the probability that She gets at
least one tail ?

Sec B
39 fig & Fnie aia HIfFU 31 fag3it 1,3) 31R (1,7 & A TN YERIE B
3TafYe ¥4 & 2:3 & HquTa & fawfsa swan &
Find the coordinates of the point which divides the line segment joining the points (4,-3)
and (-1,7) internally in the ratio 2:3.

K &T HTH 3Td D10 arfes fAm diAf fag I &t

Find the value of K so that the following three points are collinear:

10.

1.

12.

13.

(2,3),(4,k), (6,-3)
=T ABC B, 51 H1UT B HHSDIUT 2,
ST AB=5cm 3R £ACB= 30" # 1 y=1134Y BC 31 AC Y vraTeat 7ima &1
In triangle ABC, right-angled at B, side AB=5 cm and ZACB = 30°. Determine the
lengths of the sides BC and AC.
& secaA = cosec (A- 20°) BY, ST6T 4A Ueh A HIUT &, A A BT AT AT HIFYI
If sec4A = cosec(A - 20°), where 4A is an acute angle, find the value of A.
3cm, 4cm 3R 5cm YST3HT aT@ U Fyst & @1 HIfSe 3R R s8d w9e 9 e
37 AT B 7T STy, TSl 4Ty 2 50 F3vsT &) 3T Y3l Y 3/4 TR 8
Construct a triangle of sides 3cm, 4cm and 5cm and then construct another triangle
similarl to it whose sides are 3/4 times the corresponding sides of the given triangle.
3em IS &1 U ga WifRw | $g @ 7em T By v g @ g9 W w@et W@
gIA & AT Hriav]
Draw a circle of radius 3cm. Construct a pair of tangents to the circle from a point
7cm away from the centre.

14. Tfaar 311z sxiter ) firg & sud! Fa1 i & 6 a1 () &b 571 e - e ?

15.

16.

17.

(i) BT 37T U &1 817 [@19 a (Leap year ) Y BI5d §UI
Savita and Hamida are two friends. What is the probability that both
(i) have different birthdays ? (ii) have the same birthday? [ Ignoring a leap year]
Seec

TP JHAT S R TSt HFR &1 311 39 fUfd & 40m 31fie el 8 St § Safes g &1
JAAY (altitude) 60° J TTHR 30° B ST & | HIFR Pt Hd1s I1d HIfT|

The shadow of a tower standing on a level ground is found to be 40 m longer when the
Sun's altitude is 30° than when it is 60°. Find the height of the tower.

31T 5cm AT U BATHR ST & HUT 4.2 cm FATH aTAT Ub HMAT AT E3HT 21 39
UHR T O1H &1 YEIT 446 JATd HIfAYI

A hemispherical block of diameter 4.2 cm is placed on top of a cubical block of side 5cm.
Find the surface area of the solid thus formed.

% MATHR HId & T DI U 90 & MHR B TG § oD dals 8cm § 3R N
2cm § Safd MATGR YFT H1 3 8.5cm & | SHH 4R T b+ alell Ul &1 AT 119 R T
= 3 U8 F1d {3 b 39 S &7 3T 345 cms 8| g HITE b 39 9= HT IR a1 §
g1 98t, T8 Ad gU % IRiad A= 3iiale A0 g
A spherical glass vessel has a cylindrical neck 8 cm long, 2 cm in diameter, the diameter
of the spherical part is 8.5 cm. By measuring the amount of water it holds, a child finds its



volume to be 345 cm® Check whether she is correct, taking the above as the inside
measurements.
18. A 3113l A A1en FATd HIfFAV:

Find the mean of following data:

qif 3TaRTA 100-150 | 150-200 | 200-250 | 250-300 | 300-350
(Class-interval)

CILCIEG| 4 5 12 2 2
(Frequency)

19. F 31153} o 5T FATd S0

Find the mode of following data:

qif 3TeaRTE 5-15 15-25 25-35 35-45 45-55 55-65
(Class-interval)

CIEGLEGL 6 11 21 23 14 5
(Frequency)
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ciadig |afde adietr 2021-2022

Second Terminal Examination —2021- 2022

AISST YT [@€-1] Model Question Paper [Set — 1]

el —10 fawg -T&pd AT - 16er 30fAe  qulish- 40

Class —10 Sub — Sanskrit Time —1.30 Hours Full Marks —40

AT e -

o udlameff FuRIsT U sl A IW &

o T WAl Fr FE&AT 19 2

o W WEAT 1 ¥ 7 a&F facagmla wa §1 s & gl uig waAl & 3w &
TS N T AW 2 3% AuiRa 2

o U WEAT 8 ¥ 14 OF THWIT WA §| 3984 ¥ Bedl urg yeal & 3w &
Ud® Y T AT 3 3w [AuiRa &

o VAWEAT 15 ¥ 19 dF Y 3a0T N §1 587 A Fegl i Al F 3w &
TAF WA FT A 5 3% AuiRa g1

gus ‘& Hfdergadiages:

fder: - ST TayREARIH 3RO HERIATTAT fol@d - [ 2x5=10 ]

[1] SH=IET 0T &F: SR ?
[2.] FRIOWATSAOT JYH: M F: ?
[3.] #IX: FY FFeaazEr Ud: safd ?

[4.] FegsamoT aifar f sa 2



[5.] JoTeAT et g farer: 3T 2
[6.] &: Tecelcrd GS¢H FTOI ?
[7.] 3oft & afr 2
gUs ‘@ TEIRAWRAT: [ 3x5=15 ]
fAder: - Fuifaq IsaRaAEH 9T o -
[8.] @fe¥r 37ar wieeiaeee Fed - 3

[i] 31 + 3mraA  [ii)IgEaA (i@ + &

[9.] gAETdIE/aAEAYC for@a- 3

[i] gemaik [i] 3q@e,  [iii] Ryar g= I =y @

[10] 3renfrf@daETT geeT TaaYe/aaARSe forad - 3
[i] STerH [il] geaH [iii] fRveTeh:

[11.] renfT@aEr deen Awae/Rdave/Qudiardisue foad - 3
[i] ge/a:  [ii] ®ER: [iii] e

[12.] Y@ERraueHTged TeARAT Fod - 3

[i] FYIET T Thd: RTAT|

[ii] T TRAATR JURAT |

[iii] ITeT: YUSA TIHTE |

[13] REHER forEd - 3

[i] “TefAATT dTeleh:” Fegaral: qedn: faAvorag fohe »

[ii] “GSehTTOT AU ScF=ral: yedr: fadrsgue fha ?

[iii] “O>d STerehT: [AeTTed esied” | TEA arerd [adworag fohe ?
[14.] FHia-9cad Farsg/fQersa foad -

[l Fear  [i] dfade: [i] I + g



gz @ Y I e
fAder: - HuIIq JeATOMH IR0 FEHIATSAT fordd - [ 5 x 3 = 15 ]

[15.] $1dTe] 3HeRWT:| HAA: fearers: oEe AMfawaEr aﬁﬂ‘g-\r ST ﬁ,—%r:
JreaTecad ffld 3eA 93 ey Terdar REFdeaaqfd Fod - 5

D‘E

IEEAAH,  SEEET:,  Had#H , OgAsedn: , Udsiaewd
VI, AR, I, e, Afaeamn

[ ———
[0 o1 TR

£} 1 coauji o] PR 7] ——
AEY [ii]-------===n===-=-
HadT I yred L e = ATAT HAHA ﬁ'c!@TlT*PT: QRGIARTY BTl
e — SYqY Ssafd| 36H AT Tae, [vi]--------mmm------- IR GS¢H STOIA| HED Viil------
------- 5 FGRIOT [Viif]-----n=-mnmmmm-m-- o] : | qY
PAAH] [iX]------m--mmmm-- HHA YUTTAT

[16.] 3teled RF TveaT AT Yed sl FgRIdAT i aarala foad- 5




T :ehlel:, 3¢ATe, HHUTH, &I, TIeUT:, ST, FIGT:, JSUIOI, Thogehel , STa:

[17.] 3eATOFSTIAN: 3¢ 1T Asod: 3fadr dfed Rcr @ad-1x5=5
> E

HH AH UhT A AT | 36HA STRIR @A | o, HHA AT IJigol
HRET| AH AT RET: 3 | F: ThiTA [deTerd 3eqIHhIsiEd |

3EGeh: - fhA O A ?

FeaTe: -da fOar & s F0fa »

£33 S — -
HegqOh: - fhaA da Aar 3 afg: FF w2

153 }--
HEYTIH: - dd FHISTT Hrar HAAT ar a2

51 --



[18.] ITNfATRAY ATRIY TSHTAT TUH HHAIFIRAEH TG fI@d - 1x5=5

[i1gReM: Tz oo {7:00] arga 3fasaia|

[ii] H: mmmmmmmmmm [7:15] aTger gr:fohar &I

[iii] H: =--mmmmmmmmmeee [8:30] dTes eIt Iresid |

[iv] E: RIEHA --mmmmmmmmmmmmmmm {3:45] e T TANSA|
[v] E: Y -m-nmmmmmmmmmeeee [4:30] aTes shifsqd Treafd|

[19.] Irenfaf@de Jrgese afsaar v AW 3wt f@d - 5

Tehal Teh: heledUXAUT: FIRTETh: SAEdd: HHA Tehd MNfdadia Agrqeys rmad | |-
HHAGETET IR Teollel: HTEIA | §¢ TS¢dT AIRIE&Th: o HEIJETH ded - dcllhale]
T I IeT TY: gaT: BitsITd del Harel Sifdd: o #fasafd | 3rq: are fhad gur
AR HUTT ? AGTYRY: §AT 3Tded - YT Udle] Borgerelle] Gaile] | UANIH JaTTome

HRIYOT FAT o FdH R TANH Bellld g Wifecdl Foegee: daTA | 3Hd: JaT #AX
IRIATET FaTT Belllal 3 WA, T 38 Gol: JHeel: HASHA | AT aee

Yedl o T AHEhT FIRIETR: 3Fcdle] - I ONAT Ud Foolellell Hoolell |

[i] TohUcCeT 3A3d - % x4=2
[h] FTIRRETeh: el HGIYETH 3HTT ?
[@] &: 3ded - “Hdclieheldd IaId Id ------ >
[3T] HootalTdT ooladdr el safa »
[&] FEIYEN: HTT FaTET RN Toellel: I ?

[ii] qOTaTeRsT3ad - 1x2 =2

[] FIRReTS: IreNfdadia ARy F 3raead ?
[@] HRTYRNT IRITTET FeTET Helllel & Tifesgioet ?
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HAIST Y2794 [ @c—2] Model Question Pa per [Set — 2]

Fell —10 fawT -dFpd  qAT - 1°er 30fA=TC qyﬁ% 40

Class —10  Sub — Sanskrit Time —1.30 Hours Full Marks — 40

AT A&y -
o qareff FuTENT g ereat F AW &
o T WAl Fr TE&AT 19

o W WEAT 1 ¥ 7 aF AfAagelid R §1 598 § el oiw wal F 3w &
T AF N T AT 2 36 iR 2

o T WEAT 8 W 14 d%F AHWT WA §1 314 ¥ ekl aig weaAl & 3w &
TAF WA &1 AT 3 3+ AuiRa g1
o WRAEEAT 15 ¥ 19 dF &Y IT A §l 3aH ¥ Fegt AT W&t F 3w &

Y dF R FT AT 5 3 iR 2

gus ‘& AfdergeiageaT:
fder: - SR IsugeaETH STRIOT FEPIATAT f@d - [ 2x5=10 ]

[1] T GH: SoY: AT ?
[2] 3rEaTfa: freer: ger: dfddey: ?
[3] 3= € u[-ufaror: fAfelcar #&g TsAANHT TeRT: Hdfed 2

[4] &: aTehIe] HIAT 3fNTET HIaar et ?



[5.] JoTEasT &: TerofT: 2

[6.] 3TTcHe: A: FTO oR: HIEA HA o HAT ?

[7.] FTT JAICA Teeelersy IioTeaT IWUsAT ?
gus ‘@ TEANIWRAT: [ 3x5=15]

foder: - swifaq gsawRaAER 39U fowa -

[8.] Wil 3ryar Afeufd=ese Hed -3

[i] e_A + Tog:  [ii]&h: + AT [iii] TacTer:

[9.] FHERTEAFEIUE for@d- 3

[i] arfar ag: li] o fedd  [iii] AT AT IET 4:
[10.] INTATREEAT Ue=T gAue/gaATdRISE for@d - 3
[i] *F: lii] f=s [iii] 31ea:
[11] renfaf@dEr deem faeliAye ferad - 3

[i] ITa:shrer:  [ii] Gfeleh: i) 7@
[12.] YTTSfhaueATycd TRARAATT Hod - 3

[i] AT JEeT A afotear 3Efosar |
[ii] oM, 37T Fg e srafa |

[iii] F1&TeR: BT Jreafd |

[13] &emgaRr foad - 3

[i] “3r@fvsar & aforear 3 ad fhame e 2

[ii] “TIGR: X FeIAAT: TeAr: fadsgue fha 2

[iii] “T[E el SToleh: ShISIA”| ITEA T Sojue [l e 2



[14] 9HiA-Jead T/ fogd - 3
[i] R gH [ii] 3 + 917 + &G [iii] ST + Fcar

Uz ‘® Y IT0T g AT

foEer: - hifed RATATUMH STRIOT HEHIHAYAT forld - [ 5x3=15 ]

[15.] $1aTel 3MA: | $7ad: A TerdeARIatfavgs faf@dd s g dAsswran
ged AT RFaEU=iiel PR ITRYEahrar g fdwq |
Fo(mT

TSl , TFACHAH , FAPAH , MYAY: , HIeod , I
AUAAH: , TFACHRNAOET , SR, e |

CTEIRT
TG X T
o AT 3eEEr |
[ ———
3T [i ]-mmmmmmmm S AT | & 3TATH ASITAIT [ ii | ---mmmmmmmmmm -
3TN $hdH | 3TEHATH [ iv ] ----mmmmmmmm S EIPs e p i 7o po XV R— | STITOTE 3caTE
) FAT A [ vii ] =mmmmmmmmmeeees FaR | IRNTET T s 3R e
L qteT FREATA| AT Ferel FeFd | [ ix] T |
Had: faH
[ X ] =mmmmmmmmmmmmmmem

[16] 3relled 9 Toeal A>T Yo Aseledl HERAHT UsaapddFaa  fa@d- 5

H>STHT

a

GXT: , AW-RAT: , AUTSeTH , PGl , TleleT: |
ITAYFA , HTHRT: , JEear , ITeUT: , gRaT: |




[17.] Frafafld Harg AsSEHEAdfFaHeRaaT RIT |

H>S[HT

a

i) 3erelt g 3wel sesq | 3a: W Fary fasisled o HRed | i) #ferer &
TRATH | (i) 30T HHA 3 | [iv] HE deetr 3| [v] & TohieHe faamgsitst
Ieal agiel fAser=ar @rieaar |

deT: - FUT acq | fF Feed 3T 2

TIOT: - HT: AGIRTST | [i] ---mmmmmmmmmmmmmmmmmmmm oo }--

deg: - FF deal 3Red ?

TIOT: - [JTARRI TYRME] [ii] ---mmmmmmmmmmmmmmmmmmmmmmmeeeee -

deT: - e 5 fF sifgaarde 2

R R 1] S —— -

deT: - Uehq , AIUHRHA T HaONG#| ATl HAAT JdTeleiehs] T

TIT: = [iV] ~mmmmmmmmmmmmmmmmmmmmmmmm oo oo ----

deF: - UaT: IdH: INTAhT: T | IUSTI Tehl Tehl FilfelehT Wicl: A et |
TIUT: = [V] ~mmmmmmmmmmmmmmmmmmmm oo ] -

deT: - o [hATY |, hdeld GFUA | 3USIART T UIdedH, | HEN: Weh: HUAT -

Shofer 3R |
TI0T: - g7 3feRrfa aur R |



[18] IrNfATRAY AR TShTAT TUH FHAIFIHAEH AU fold - 1x5=5

[i] AlgeT: ITl:  ------m--- [6:00] aret 3fTsaid|

[ii] H: =mmmmmmmmmm [6 :15] dTcal UTA:HAUY Ieafd |
[iii] H: =mmmmmmmmmmee- [8:30] aTgel UTaRTel AT |

Y e — 19:45] aest PRI A
T B 1 e — [5:30] dleet 8 NS d|

[19.] NfATRTH 3= TfSAT Yad AW 30 fd@a - 5
Th{EA el Teh: faermer: geT: A | A dgd: T qdHfed T |

TeheT o 3Tclla gHTaidr: 3MEsT | 37cl: #slel g Sokdd: HHfed & |

d Y TeBled TH| 3ed T THEHe &7 dUgelhUlle] U] o o Ilcal Sfesicrdl
UgATe], Wefed T e Siloled JGHT: 37e7ae| 37T & ol 3fa ReafRcar @ &
STTeleT 8 U Ueh TTHFA 3UNEoH| du 7T Uh: 7TF: 3| & Sd God: 3haddl

e Fd Tl ¥cdl THeol T 3ejcde] 3Tl T - “ThdH Td @ faega” |

[i] ThUCT 3T — x4=2
[%] faereget & aqfea & ?
[@] @I AT F: 3 ?

[1] §& F7 faezd ?
[€] @I Y8eaIaaT & Wefed & ?
[ii] qoTareRIT 3R - 1x2=2

[] TI: AT FT HAfed T ?
[@] 7w & 3 ?
[iii] 3 €T 37e]eoeed 3uged M formd - 1
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HAIST Y2794 [ @c— 3] Model Question Pa per [Set — 3]

Fell —10 fawT -dFpd  qAT - 1°er 30fA=TC qyﬁ% 40

Class —10  Sub — Sanskrit Time —1.30 Hours Full Marks — 40

AT e -
o gdlamedf FuTHHT T ered) FH I I
o T WAl Fr TE&AT 19 2

o WA WEAT 1 ¥ 7 aF Hfaagelid R §1 598 § Bkl oiw wat & 3w &)
T AF N T AT 2 3 AR 2

o VT HEAT 8 W 14 dF JHWT WA §l 314 F el afg weall & 3w &)
AT WA HT A 3 3w @AuiRa 2

o VRAEEAT 15 ¥ 19 dF ¥ 300 W ¥ sad ¥ Bl Al wrat & 3aw &
I+ RA FT A 5 3w AuiRa &1

gus ‘F Afdergeiggea:
fder: - S TsawRARE AUt FEhadTar fo@d - [ 2x5=10 ]
[1.] & ATATEROT SehALTAT el il 2
[2.] srase: faeamed feer: oF: AT ?



[3] 3feRa: 3red: &a 3 T 2
[4] grdal &: dR: Hafa ?
[5.] HRET TgaT &: dR: safad » 2

[6] F: G T STedehlel AATE Teaid ?
[7.] 3TEAT S & TBSHe: Fehifdar: ?
GUS ‘@ TEAIRAT: [ 3x5=15 ]
A& - HuRd gsaRAEE 3o e -
[8.] |fe¥r 3ryar Wieufdese o -3
[i] G + 39T, [ii] Faher:  [iii] T + Sel:
[9.] FHTEATE AT foi@d- 3
[ FAfRRHE (i) TR [iii] AT = e =
[10.] 3reNff@areT g gague/aaEndsue forad - 3
[i] g3 [ii] g&T: [iii] HEH
[11.] 3renfaf@arEr deem faudaue/Aeaeue/faudardsue forwd - 3

[i] 3TTcX: [ii] GcIH [iii] 3T

[12.] Y@rSfHhadeTycd TRARAATT Fod - 3

[i] aeardE Ao fade wq aw |

[ii] TCARCATITH FToe] oR: WIH AT o FHINc|
[iii] SETe STT:_HAR GReTd o qreaAnd |

[13] EMFAR folEd - 3

[i] “TYA: YA ScTTAT: Year: FAVorIe fha ?

[ii] “Tacamers A’ ScTTA: Yedn: faersgug forA ?

liii] “ FAecHIT: HIFd Bl Wiia” | HATEA arerd foharag ke 2



[14] 9PiA-9ead FA-T/ AT fogd -
[i] TTHTT: il @ + g9 + =99 liii] TSl
gus ‘@ Q¥ 37 yemn:
foder: — $uifd TeAFATONH STRIOT HEHAHTT T - [ 5x3=15 ]

[15] TaeaTorgey aii¥elcaad 3if¥hcg AT 9fd i@ o5 H>oWRT JealecHe—Iaar TWId - 5

[ ——

AR oo
112 2 ] [E—————
ko A s 1] [ — |
HATIR: 31T Id ITdHCdle JEATh [AGITATET [iv] ---mnnmmmmmmmmmmmmmen IE | 3 Od
AT T [v] -----mmmmmmmems 3T | et sRmATT [vi] -==mmmmmmmmmmem e .3.]-|-\:ﬁ7.[ |
q: 3EATH L R QTQR':F[ | I: AT DEE: [Viii]-===mmmmmmmm e m e 3o |
AT HE [ix]----memmmmemmmemmoeen fdead |

LTl [ [ ——

[16] 3reied 9 Tseal H>o[0AT Ve Aselell eIl TsaHERdardls fored- 5

H>SUT

N

adshl, TAAGY:, TSoR, ST, o, 35¢:;, T8g:, ST, Hied, I0E:|




[17.] 3renfaf@d 3eadead A INGASGHGITAT TAT-1x 5 = 5

Ho[NT
YT, [CICECH eIy, AFT:, ST,
[i]3: —mmmmmmmmmmmmmmeeee 3feRT JHTITd dE ---------mm-mmme- : ¢d gdEid| I8
Hel: IPROUTEAT 3TEA ----mmmmmmmmmmmmmmmmee o ®Y gRAwEIsafa ?
[i] AT --mmmmmmmeeee- Il Wikd T T v A ] ---mmmmmmmmmmmeee Haq
a: faas sfa sRa: |
[18] JrENTATHAY ATy SHRIAT TAH THIFARHEh AT fordd — 1x5=5
[i] SIPRIS-UFAIH A --mmmmmee §10:00] dTeet ST |
REGCIRE S R E | JE— [10:15] aTget Ieaid |
[iii] STTdT TFRAAH HRIEHA ---mmmmmmmmmmmm [3:30] dGet IeSid|
[iv] &: A e {11:45] arcar T&fafd|

MR RG ORI H e — [5:45] aTeer 3fasaifA|



[19. ] IreNfAfETH 3gese Ifdcar Yed RAWH IR0 fd@a - 5

Tehel TShAR faewrd: fagR™ 3eate IIddre| FaT &: T sheeaediad IOl d&d
Teh: §H: T WFAW AT 30| o g6 gocar fAcum: Heomqul: #5alld: | Jerd &:
§HET NI, J107 fisehed Iracqedfd drae dacd: aF GAR: | §: fAqurid 3adan
“Af Reurd | uw: ga: #7I7 9o fAwifad: rd: sH g9 A ¢fgl” facurd: 3=k 3raeq -
‘T GRATTA $H §OH , Id 3IEH 3T WiH:"| dl RER fGagA=! ToasT Tdded! | I
4 galed HcdTl JMeSedle--- “68: I FHIY T Tflear fASid @ d&ig #iasaid |
§H:  Heloe NCUMdAT 3UITa: | 3o g ---- T&Teh: HaTehId A4 |

[i] ThUCeT 3AId — x4 =2
[&] At &: afda: 3 ?
[@] &: 3T 3dacd ?
[3T] Y&Th: HTATA AT ?
[€] &4: W&I TT HYH 3o ?

[ii] qOTaTeRIsT3ad - 1x2=2

[] caca: Rieurd fFe 3@ed ?
[@] TaTr fhH 3nfesears ?
[ii] 3 €T 3eJeoeey Iuged M for@d - 1




FREUS Sifereh Srga-am= vef uivreror afiwg, 1=, EmEve)

et wratres aitarm 2021-2022
HieeA I U
-4
FeT- 10 rvw-dewa QFo®)  WWE- 1:309eT  UUTI- 40

A g -

gframdf FurEsE Irger e} A IAW &)
gmma‘faﬁziwwtl

v WedT 1 ¥ 7 % Hfaeguiy wa §) g ¥ BTt ofw weal F 3aw )
TAF W FT AW 2 3F fuiRa &)

W WEAT 8 ¥ 14 aF wyw(Id WA §| 394 ¥ Bedl oiw weal & 3ww &)
TAF W 1 A 3 Iw AuiRa 2

weAEEdr 15 ¥ 19 & ¥ 3o wa §1 g7d ¥ Tl i wat & 3w &)
yA® WA F AW 5 3% @AuiRa

CLEE)
LG HUTood YT THATHAT ITRITOT guiaTe forad - 2X 5= 10
1. gitrr: g & ¥e wafd ?

2. IJZIHT IFETHH F F: Th: WAl ?

3. FFIST: oh: gLrEl oTH: ?

4, FTHIY: %@Ti’ﬁm BE: IAA?

5. Tuar oI wre feob rmsfa ?

6. ok oh: TS F YT ?



7. AU o BPH §TB1d ?
fcLcic)

HATTSe ToeTT AT Iefur fcerganor foreg -
8. @l / wi-ur-fo=ed el -

i@ ol i ateE il aesisRy
9. FHTETIYE / FHEqus fore -

i, Feer: i weEe il see T
10. e gl faetmad fore -

i wheRy Qi E i gen
11. TETgfeht qeaTger TH AT Faw] -

i. A SATCHT FASIURT AT Hd |

IRSEEE K GIRRINERCBIEE KRR

iii. el ok foderd g T |
12. fraeman forag-

i. eprehary: formeff, 3 foreread form 2

ii. “apwor: ToeR:, o7 foreroag fom 2

i, “sdifecisel. et Ter | SifRe AT s f 2
13. Sehfd-Sread wsa/forvsa foererg-

Laferr diEgH il T+ e+
14. Ta¥T veMT ware fore-
i, foem i qEd il |

Qus-T

FHuTTSerq SFATOTE T ITrfor fReergamnoT foreg -

3X5=15

5X3=15



15. TauTd: Torameea srae fagaea srashmomed wermred ufd fofad oo

HET— 10
(FSSHT- 9T , HeIedT: , 22/03/2021 , B | am, fomsaren , witrsafa, Faem
, ST, WEIeAT: )

16. steiEw forst gEaT AeSuTET UEW WeAHT HETAqAT USRIy qUi

D D

WoS[NT—sIoTehl:, Sifasht, fawer, wie—h Ao, gieesh:, THE,
qratend, S, SehadAftdl




17. HeuTa: Steraaaat= frear @arg aawg- 1X5=5

HS(uT

[N

TATH T HEEATATH, AT ITehTeTAuT TATUAT SRS | U¥: T TS aeAHTToreRT 3 IF9: | o
farfarer: wreor: Terat: | ww wTgeT: W ATeaHe SURREUUT TrEesd | foh ST | i awifor
ST ?

foraT — o1 | Tw: wETgE: FrftvraTt awifor erfte |

18. AMTARGAY TTHIY HATHMT TATH AHTIAREEHAT ToTEr=d- 1X5=5
[k pp— (9 : 00) ITe forerTer T fd |

([ s Fpp— (9:15) aTe JTefAT AR |

([ 2 — (9 : 30) ATE AT Tf TS |
[|VZ— (9:45) ATE T TSI |

|V — (10 :00 ) ITE SFRUTS UM |

19. srenfetRad Tt afdeaT aaraTiar T ST —



TRTHI ATE: o IT4aH SToReRIq | 3Ta: S Qe 3 a1 o 7 9itersa: |
TRTHRA SR SHREUTUSaAT: JE& JUHe el | St dITe e 31 Ty
SATOTCT | Terer: 2fiepoured Afered STS{H: Thich! U SFhI SHITd | g TTET: HealTe: JaT
el U YT Wald | 36 SeT: Tiamme forafe ufafa: | soa: omgd: wvie: A

I, TR ST forag- Yaoxa=2

&, G @'CRT: ?

. AT JOIdT oh: 2

T, WETWRAE oh: T ferafer wfdfy: ?
. %: TehTeh! TR ST 2

i, TR 3w - 1X2=2

F. T AW I I IS FE el YT, P
@, grg’ I1e faamud fored |

ii. a7y sTT=aee Iuh viie: fored | IX1=1



SIR@Us A& HTAYTT Ua GIALTOT IRVe, I
Jharkhand Council Of Educational Research & Training ,Ranchi[Jharkhand]

ciadT grafden qdIeTr 2021-2022

Second Terminal Examination —2021- 2022

HAIST Y2794 [ @c—5] Model Question Pa per [Set — 5]

Fell —10 fawT -dFpd  qAT - 1°er 30fA=TC qyﬁ% 40

Class —10  Sub — Sanskrit Time —1.30 Hours Full Marks — 40

AT A&y -
o qareff FuTENT g ereat F AW &
o T WAl Fr TE&AT 19

o W WEAT 1 ¥ 7 aF AfAagelid R §1 598 § el oiw wal F 3w &
T AF N T AT 2 36 iR 2

o T WEAT 8 W 14 d%F AHWT WA §1 314 ¥ ekl aig weaAl & 3w &
TAF WA &1 AT 3 3+ AuiRa g1
o WRAEEAT 15 ¥ 19 dF &Y IT A §l 3aH ¥ Fegt AT W&t F 3w &

T AF R FT A 5 3 AuiRa 2

gus ‘F Ffdagaiaves:
fder: — S IsugeaETH STRIOT FEPASAT fo@d - [ 2x5=10 ]

[1.] WSRATATART o Hafed ?
[2] 9T 3T dhreer: Ead ?
[3.] ResT g &: A=A ?



[4] T F: Fdled: HeTd ?
[5] FX: &Y Feaagemar e safa 2
[6.] faeeth: dhreell arr aRTeIa ?
[7.] &: ASHAT: Hafd ?
gUs ‘@ TEANINRAT: [ 3x5=15 ]
fger: - WA TawRARR SR foad -
[8] @iy 372rar Fieeriaose Fed -3
[i] deIf™d + T [ii] NhSTEAed [iii] ShelTTo
[9.] FHETEGIEAFETYE a1 for@d- 3
[i] deardey faohr: [ii] aTeFdg: lii] foRERA
[10.] 3rNTATIATAT T gague/FAEdHIe forEd - 3
[i] 8 [ii] eTeTe [iii] ok
[11.] renfaf@daEr geer fAedaae/Aeage/fariardesus foad -
[i] arw: [ii] 3TgeT [iii] 3TCHITH
[12.] YQTSPATCHATEYT FRANAT Fod - 3
[i] TRfaHATEr FEET SieT=T 3R |
[ii]_9eTET HHT TehT ST dgid |
[iii] THEROT fAITOY S |
[13] &MER folEd - 3
[i] “Jeo: Sfigy gegeray: gear: favome fohe 2
[i] “ger: [Og ScTeran: g fausgue fohe ?

liii)] “peer: TOg: gaedd: uafd”| AT aed 3reague fohe ?



[14)] YHiA-Iead TAsT/faersT a1 forad -
[i] 8T [ii] 1 + & [iii] o + del + AJ
oz ‘@ &Y 3909 e
forder: — Suifad TeA=A0NH, A0 FEHATSaT fo@d - [ 5x3=15 ]

[15.] TemaTheard s 9fd fAfEafAc auius oF #Aspman: i 98: q@ad - 5

H>SHT

a

ST, W, caf , FHooTal , TNEET, T, STELTIRI , YHATRMY: , ree# , gefus |

[ ———
o0 | F R —
o 37eget |
[ ———————
ad RGeS, edd [ii] -----mmmmeeme | @& doTar A
AR A V] -roeoeeoeoeeees FHA | IERTT TARH RURT e 95 TR [v] —-rommmeemeev
~STUTTS, | IHEATH HI TT: [Vi] --m-mmmmemmees IR GRS Rt - ) [E— |
T GQETATH AT [Viii] oo GUHH TUA TG [iX] -memmemmemmmmmmmees =B 3 |
QT Y FTHAAAY |
= 1o oA £ B ) e —
AU

[16.] 3reled 5 Toeal A>T YexrIsell AT YsaaEhddiaa fo@d - 5
AQY, J&T:, aTerdfed, Toteh:, TEol, Riemees, O, ysafd, &, 9dd:|




[17.] 3renfaf@d 3eadcad AsS[IMGASGHEITAT [AA-1x 5 = 5

BECAL
gelaT:, SELR 38T, qeY: ,  depdardl |
IREG L —— STy Fgd feays Jeofd, 3 ®ar fF ao: av
FIFA: oo 1
I IRIC G L e —— SITEd, ITUH HeT AN, HATH: --mmmmmmmmeaee AT |

1S E B - R — |
[18.] ITNTATEAY ATy ShIAT AW FHAIGIRHAEhAICN fl@d - 1x5=5

[[] AY-Tr TS A - [5:00] dTcaT PG|

[ii] ITHTEAS T oo [8:15] ATl Ieoid |

[iii] STeTeTTeal THRAUH HWRIEe ---nmmmmmmmmmm [1:30] dlesl I=aid|
[iv] 3TRTAT: A oo {12:00] dtet FEATdI

NIRRER G R 1[5 i — [5:45] alear 3fasaid|



[19.] 3renfarf@dd 3reqese afdedr Jea weaAe 3o f@a - s

STl AR JHE gd 3| A fead AReA: [Oq: 3T qrerde] agéerasiion
gol 3f¥cdT, TGOT edl FUcal Hiel T [aAed IAegeR’l Rige: 3|

TEATEE ahTelle, TR Uiy AT s AT FIY Al FodTeld ed |
AT ad TAgTIeA el had| IEATT IduT: qd STell: FGIEIUN Yefe Fdfed |
IEIOT AdaYRa A E= |

1. ThUeel 3o’ — x4 =2

[h] EIdTarell NT YW 9 37ed ?
[@ Soraear W & G 2
[a1] SroTaelr sEar fadt satd 2

[&] Serar sfd yesd fauwdaue foe ?

2. QUIATERIST3R — 1x2 =2

[a?]atnawqe‘rwqjam%go—ciﬁr?

3. 318 3Jeedd Fd 3uPeFd M for@e - 1



SIREs AaTeh gt T HfAefor aRve, T (FREs)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
afad Araftres odiaT -2021-2022
Second Terminal Examination - 2021-2022
HAlSel UA-07

Model Question-paper

de- 1 (Set- 1)
- 10 [CARSCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 99T 1 W 9T 7 Teh ATTTERIT 9T & | ST U fehodl Ul Weadl ah 3eX
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 oeh T T § | SoTH U Tohegl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT TEAT 15 F YT 19 deh U308 YT 8 | 378 & foregy disT W&t &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Q.1

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Section - A
fregl 9T weall & 39T &fST (Answer any five questions) 2x5=10
fdega 3maer & S| #AFEs AT, T sodeld W fhdenr fegd smawr g@ar g7

Write S.I. Unit of electric charge. What is the charge on an electron?

dlecHicy &1 g @ @ ifas R AR # Of oS g 58 fagga 9Ruw A
fPa g wTAed fear aar 82

Which physical quantity is measured by using Voltmeter? How is a voltmeter connected

in electric circuit?
Teh Y T T 3GTR0T TSI Sl el o AT W &d ol AT H G/T el & ?

Give an example of a metal which is found in liquid state at room temperature.

Toahigel & HHAT FF o |
Write the general formula of alkyne.

A o 9T TN & fow foh i 1 gAr?

Which plant did Mendal choose for his experiment?

Teh oid Aol gerd & 3eeor &l

Give example of a biodegradable substance.

3c9Tcah 39a 3l & ot fvg o FeR ga 87
What do producers depends for their energy?
Section- B

fregl 9ra weal & 39X &fST (Answer any five questions) 3x5=15

T TEOR &7 g faf@e? Ry aRuy & arr & roear & afg 500C 3maer 10 Fse &
$HY gl IR Bl

Define one Ampere? Calculate the current in a circuit if 500C charge passes through it

in 10 minutes.

Q.9 fwfaf@d & Fuse Hifaw

(a) frET AR &1 YRRIY 38 IS FI & &A% # IRad & A fore gowR aRafdd giar
gl
(b) Y amTerer T IR fohd  @RePT 9 AR a2



Q.10

Q.11

Q.12

Q.13

Q.14

Explain the following

(a) How does the resistance of a wire change with the change in its area of cross-

section.

(b) On what factors does the resistance of a conductor depend?

fegd e qUT faegd AR & a9 Hagd Yy U1 & AT Sy fohdlr @ g & i
AT AT & ?

Why are the heating components of electric toasters and electric irons made of some
alloy instead of pure metal?

T TTaRoT o 3 ford|

Write three environment friendly practices

AT 3797 § 3T FAT GHSTT 8 7388307 &

What do you mean by homologous organs? give example.

aiRdT A IAATSR @ AT A §?

What is the role of decomposers in the ecosystem?

FHSAT Ao 47 § ? 361801 & AT FHSSU |
What is an homologous series ? explain with example.

Section - C
fregl il weat & 39T ST (Answer any three questions) 5X3=15

Q.15 Aok 77 Wiow B RERE F TH Regd WRuw # e sRRus e SRRy

SAM: Ry, R AT R; &, & AW A A Sl g | faegd 9Ruy &1 Jed  gioe
& fou cgoe urca w7

Define series combination of resistors? In an electric circuit three resistors whose resistances
are Ry, R; and Rj; respectively. They are connected in series. Derive the expression for the

equivalent resistance of the electric circuit?



Q.16

Q.17

Q.18

Q.19

fer v oWy 33ME@ #H

R1

~ 1]+~
12V

gfadear R1, R2, T R3 & #AW HAA: 50, 100,30 Q& Tur s=¢ 12 Volt &Hr
Sl 4 @A fear orar g ar (a) 9Ruy @1 Fa wfady (b) 9oy #  yarfgd
$o fdegd 9RT (c) 9AF TRy § Farfed faegd arT aRHfad  RIfea?

In the given circuit diagram

R1

~ 1|1~
12V

The values of resistors R1, R2, and R3 are respectively 5 Q, 10 Q and 30 Q. They are
connected to a 12 volt battery, then calculate (a) the total resistance of the circuit (b) the
total current flowing in the circuit (c) current through each resistance

YT AT 37T & THIAH TN & YR W HeR T A |

Differentiate between metals and non-metals on the basis of their chemical properties.

Ol R OFAT E ? Uk HBR AWl @ 3G QfSiT qur s fAffied 9 ¥
ERIEY

What are trophic levels? give an example of a food chain and state the different trophic
levels in it.

&) GATdY of&TUT & 319 AT HASIA 87

) A & YANT GaRT S8 9dT doll o ST&T0T TdT 31Uar gHdT gid 82 HHASSU|

A
B

) What do you mean by dominant traits?
)

How do Mendel experiment show that traits may be dominant or recessive?



SIREs AaTeh gt T HfAefor aRve, T (FREs)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
afad Araftres odiaT -2021-2022
Second Terminal Examination - 2021-2022
HAlSel UA-07

Model Question-paper

- 2 (Set- 2)
- 10 [EARSRCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 9T 1 W YR 7 Teh ATTTERIT 9T & | 3o U Tohedl 9r<r 9l & 3o
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 ook T T § | SoTH U Tohagl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT GEAT 15 @ YT 19 deh SIU3a4rT YT ¢ | 578 & faregl i weaT &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Section - A
freel aTo wealt & 39X dfST (Answer any five questions) 2x5=10
faega urT &1 S.| AFS fAf@U? fondll Treres # faegd 9RT A & fov fhe 39aRior &1 =T
foram Srar & 2

Write the S.I unit of Electric current? Which device is used to measure electric current in

a conductor?
gfar &Y S A Ol ? frdY ar 1 ufadyr 39 des o IR war &1 & ar A81?

Write S.I. Unit of Resistance? The resistance of a wire depends upon its length. Yes or

no?

ar OF 913t 1 AH TR S AT & GAE  FET ST FhT §

Name two metals which can be easily cut with a knife.

CH3COCHs, CoHs # @it - &l &1 YahrdicHs THg 39fead & ?
Which functional group is present in CH;COCHj;, CoH, .
ShanRd Far g7

What is fossil?

SRATITT I&T0T & 31T AT FHSAA & ?

What do you mean by inherited traits?

T WETHWell & 3G &

Give example of a food chain.

Section - B
fregl 9rT weall & 39T SIfST(Answer any five questions) 3x5=15
A F AgH 9w , 58 F¥H & IR W QAR dur fAggd arRr # §FEaey
fof@e 2 gfeRiyr & g w372

State Ohm's law? On the basis Ohm’s law write the relation between potential difference

and electric current? Define resistance of a conductor?

Q.9 e & Yard Far &7 geh 8 Yt & A & o )

What are magnetic field lines? Write any two properties of magnetic field lines.

Q.10 H&TROT foFd &g € ? 38 JI&T F 3917 q@lT |

What is called corrosion? What are the measures to protect it .



Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Hod 3 e greglieres i 3R T & |
Explain the difference between saturated and unsaturated hydrocarbons .

Sig YT AT §?

What is biological magnification?

T qIRdT H FAT & Jdlg & T [T Fa10 |

Draw a diagram of the flow of energy in an ecosystem.
HSST o 39al SRANT & v AKX & G &7 9T 1 fhar?

Why mendel choose pea plant for his experiments?

Section - C
foregl et weaT & 3aX dIfSv(Answer any three questions) 5X3=15
T fdegd a9y & e gfcRierenr & foefe 9forier saA: R1, R2 du1 R3 & & g %A &
Sher arm g1 fegd IRy &1 Ao IRy & o odsfh ged #?

In an electric circuit, three resistors whose resistances are R1, R2 and R3 respectively are
connected in parallel. Obtain the expression for the equivalent resistance of the electric

circuit?

faega AY Far §7 sue facyid AT | & faggd A & aAwifed & sase @ g6 ar
3uer ff@e?

What is electric motor? Write its principle. Draw a labelled diagram of an electric motor

and write its two uses.

AT 8 FEd § ? U & FHATGIAl & AH Td WAellcas I QfEw |

What is called isomerism ? Write the name and structural formula of isomers of Pentane.
A) 3SlleT FaT1 82 |

B) I fFdY oidT &1 o YehR genfad v &

C) 35l WA & &T Pl HH Il o ToIT FIT HGH 3617 IT g7

What is ozone?

How does it affect any ecosystem?

What steps are being taken to reduce ozone layer depletion.

AT #H g &I foler fAuRor &8 grar 82

How is the sex of the child determined in human beings?



SIRES AT8Teh ITHET T TiRIeTor aRVe, U= (FRTES)

(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)

aIadiy Arafdes qdiaT -2021-2022
Second Terminal Examination - 2021-2022
AT Y2A-UF

Model Question-paper

de- 3 (Set- 3)
- 10 [EARSRCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)

> qeTTt FATEHT 3197 el A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B

(The total number of questions is 19)

> 9T 1 W YR 7 Teh ATTTERRIT 9T & | ST U fohedl 9r<r 9l & 3o
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 9% 8 W YT 14 deh T IR & | So1a U Tl Ui 92adl o 3ei¢
31fehd# 50 2Teat 7 ITSTT | Jcdeh UReT &I AT 3 3o [T &

(Question 8 to Question 14 are short answer type questions. Answer any

five of these questions in at most 50 words. Each question carries 2
marks.)

> TT GEAT 15 @ YT 19 deh SIU3a4rT YT ¢ | 578 & faregl i weaT &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)



Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Section - A
fregl 9T weal & 39X ST (Answer any five questions) 2x5=10
AT’ &1 S| SHES FAT &1 3H 3URUT & AH IdBT S ATl & ciiadd & ard [AHdeaR

FI §TC @S H HAeg AT ¢l

What is Sl unit of potential difference . Name the device helps to maintain potential

difference of across conductor.

T & vEET HiA @ osifas R @ A A Of oS g 58 fagga oRuy A
P Wg Tafoa ear aar 82

Which physical quantity is measured by using ammeter? How is it connected in an electric

circuit?
Hiost S T Ay 1 § a8 foneT - fohet earqail @ fAee &= giar & 2

Solder which is an alloy is made up of which metals?

ﬁmﬁl‘@ﬁffﬁﬁﬂ@mm&ﬁ%mﬁﬁ:-Cm,sz,C2H6,CZH2
Which of the following compounds would be homologous series compounds: CH, , CoHy
CoHg , CoH,

&gt 3R qesl a1e e arer fefer U i HieT & 82

Name the sex chromosomes found in male and female.

qIidT & 3old Uceh T 38T &

Give example of abiotic component of ecosystem.

gcds O TR W 39sY Flefaish ey Fl hddT fard 306Ta TR 9T qg’udl 2?2

What percentage of the organic matter available at each tropic level reaches to the next

level.



Section - B
fregl 9rT weal & 39T SIfST(Answer any five questions) 3x5=15
Q.8 & fG@mw 71w gf art P 3k Q # & fraer gfady 3ifasw §, 3k #4917

Out of the two wires P and Q shown below, which one has greater resistance and why?.
P 0 A

a (¢) PDA/2
L

Q9 dahg &F & S AEH ﬁ@?mw@aﬁug‘saﬁf%&ﬁﬂmﬁw%ww
Jrar § ar ag [3aRa 8 I &1 F=19i?

Write S.I. Unit of Magnetic field ? A magnetic needle deflects when it is brought near a

current carrying conductor. Why?

Q.10 (a) wfesA, BT UG FET HT 3TN MU FeIe1 & e &3t fhar Smar § 2
(b) HE 3% FOR Grpideh YGTd HT ATH TAT |
a) Why platinum, gold and silver are used to make jewelery ?
b) Name the hardest natural substance .

Q.11 fe=faf@a aiffer fr g=@aT s -

a) Al b) WI#cISEISs c) ufafes 3rFcl
Make the structure of the following compounds:-
a) Methanol , b) Formaldehyde , c) Acetic acid

Q.12 1 gren Afg g 9 &R F gl Shar s "@ATCT W G|
What will be happen if we kill all the organisms of a trophic level.

Q.13 3T FIRT JaUT HT FATAT HH HA H FIT ANTET ¢ Fohd 22 el al adient &1 gofer Hifarw|

How can you help in reducing the problem of waste disposal. Explain any two methods.

Q.14  Ushel SN @RI 3UTiold ofaToT HIATT: 3ETell UG 7 AT el 8l o Fi?

Why are the traits acquired during the lifetime of an individual not inherited.



Section - C
freel i weat & 39T fST(Answer any three questions) 5X3=15

Q.15 3A F fagd f@v 3R @@ g fiee?

Q.16

Q.17

Q.18

Q.19

Write Ohm's law and verify it?
IR 9feRet 4 0,8 0, 12 Q 3R 6 Q & HA NS ST Gl ¢ &6

(@) Fol iR IRHAA A (b) T Y FLTaA BNl (c) IRkaH IR FgHAH
gfarer fr 0T FY

How can four resistors of resistances 4 0,8 Q, 12 Q and 6 Q be connected to give a
total resistances (a) Maximum (b) Minimum(c) Calculate maximum and minimum

resistance.

AQST &1 §? ST WY T ST A STl Sl & ol AU &1 AT F47 gher § ? F41 $oedier
S g faemaent & oY fAAe s fA#ToT gem ?

What is a micelle ? Why micelle is formed when soap is added to water ? Will micelles
be formed in other solvents like ethanol as well?

A) TR F&T0T & 31T FAT FHSA §7?

What do you mean by inherited traits?

B) #soT & UAIT & H& T Forr o fAfdest fepedr wafor Fadd ®7 @ GG Bl 872

How do mendel experiments show that traits are inherited independently?

A) 35T ROl gerd Far 872

A) What is is non biodegradable substance?

B) §AR EaRT 3cUiid 3oid feldiianoli o} & dled T FATAT 3cTeed gl &7

B) What are the problems caused by the non biodegradable waste that we generate.



SIREs AaTeh gt T HfAefor aRve, T (FREs)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
afad Araftres odiaT -2021-2022
Second Terminal Examination - 2021-2022
HAlSel UA-07

Model Question-paper

de- 4 (Set- 4)
- 10 [CARSCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 9T 1 W YR 7 Teh ATTTERRIT 9T & | ST U fohedl 9r<r 9l & 3o
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 ook T T § | SoTH U Tohagl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT TEAT 15 F YT 19 deh U308 YT 8 | 378 & foregy disT W&t &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Section - A

el 9rT weall & 39T &IfST (Answer any five questions) 2x5=10
Q1 3H & AgF & YR W [@HaeR dur foegd a”r 7 deeey faf@v ? v
TFIRR &I RN il

On the basis Ohm’s law , write the relation between potential difference and electric

current? Define one ampere.

Q.2 T areae T e s J gRadd &1 39F gfaiy 3R gfaiesdr 9T F31 9879 9sdT 87

What is the effect of change in length of a conductor on its resistance and resistivity?

Q.3 HAAIH [T Fgr JAar g ?
What is Amalgum ?

Q.4 U &7 30Tfde T CoHy & SHA FieA-hle & HE HIlo AT Bl 872

The molecular formula of ethene is C,H4, what are the covalent bonds in it?

Q5 Siar & 9 S arelr [AffesTar & Far o 872
What is the benefit of variation found in organism?
Q6  wAgRr 3T R T 82
What is analogous organs?
Q.7 379 37U SFGER I Teh 3ATEYVT & Sl g ST o Tob 3T GITEROT AT §

Give an example of your behaviour which shows that you are eco friendly.

Section B
el e weat & 33X QS T(Answer any three questions) 5X3=15
Q.8 ATl & I & gRI™T FL | Areld T IRy FH FRPT W FIR aar g2

Define Resitance of a conductor. On what factor does the resistance of wire depend?
Q.9 20, 3Q 3R 6Q TR & dIeT JFeRIET T HA SAIST ST Fohell § AT Fol FlaRAY Bl
@ 1aq (b) 11 Q

How can three resistors of resistances 20, 3 Q and 6 Q be connected to give a total

resistance of
@ 1a (b) 11 Q

Q.10 Zelagled H TAHERUT & garkT N0, NaCl dar MgO & AT geisy |
Show the formation of N,O, NaCl and MgO by transfer of electrons.



Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

ISl U GiaeaosT ATRAHAT & 3T A1 THST & ? IAF & U - Tah 361807 Slfolv |
What do you understand by combination and substitution reaction ? Give one example
each?

QI STTel &7 2 Teh 36107 & GaRT FHST]

What is food web? Explain with an example.
T i dh gast a# 36t Aol gerd gateaRor & gaifad #a 87

Give any three ways by which a non biodegradable substances would affect the

environment

SaRd Fa71 8?2 I8 [T 9hd & R{AeT & F371 gaa 87

What is fossil? What do they tell us about the process of evolution?

Section - C
foregl i weat & 39T {fST(Answer any three questions) 5X3=15
fdegd SeRex #ar 8?7 IF 5@ Reud | & &ar g2 s@s @aEo 3R
FRYOM H goled 2

What is Electric generator? On which principle does it work ? Describe its construction

and working ?

fer av oy Mm@ A

— ANV AN

— 1 [1] =
6V
gfeRee R1, AT R2 & AW HAA: 4 Qdu 20 0§ dUT 3¢ 6 Volt & i &
e fpar Srar § o (@) 9Ruy & Fo gfaw (b) 9Ruy A vaikd Fo faggd

gRT (c) J3& gfeirr ¥ varfed faega arr aiwfoa Hifor?



In the given circuit diagram

NN VNNAAA

~{ 1]~
6V

The values of resistors R1, and R2 are 4 Q and 20 Q respectively. They are connected
to a 6 volt battery, then calculate (a) the total resistance of the circuit (b) the total current

flowing in the circuit (c) current through each resistance ?

Q.17 €T $r whre gishar T franfafer xS |

Explain the mechanism of cleaning process of soap

Q.18 A) Tefisr & 319 FT FFASTT 87
B) 98 Sl ¥ FRe g oif oIg TURNS & 3gHT H TS g7

What do you mean by species?

What factors would lead to rise of a new species?

Q.19 A) sig fAeaaoiy 3 39 Reiexoir gered & 3iaR S|
B) T FROT § F Fo vard i Peheol @ 3R 3o s Feheol)
A) Write difference between bio degradable and non biodegradable substance.
B) What is the reason that some substance are biodegradable and some are non

biodegradable.



SIREs AaTeh gt T HfAefor aRve, T (FREs)
(Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
afad Araftres odiaT -2021-2022
Second Terminal Examination - 2021-2022
HAlSel UA-07

Model Question-paper

de- 5 (Set- 5)
- 10 [EARSRCEIC) quiieh- 40 AT — 1:30 TeT
(Class-10) (Sub- Science) (F.M-40) (Time- 1:30 hour)

ATy fSEer- (General Instruction)
> qeTTT JATHHT 39T Qeal A 3R G|

(Examinee write answer in their own words as far as practicable.)
> Il YA h AT 19 B
(The total number of questions is 19)

> 9% 1 W 9T 7 Teh ATTTEIT IR § | STt 8 fohegl Ul URaAT & 3eX
TR dH Teh aTeFT H SIfSTT| Tk 9T T AT 2 31 iR g1

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question
carries 2 marks.)

> 92T 8 ¥ URe 14 oeh T T § | SoTH U Tohegl 5 R & e 3Teehcl#
50 2TeaT A SIToTT | Tcdeh T2+T &l AT 3 3o fTeTRA g1

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> TT GEAT 15 @ YT 19 deh SIU3a4rT YT ¢ | 578 & faregl i weaT &
3R 3TRdH 100 ASET H STV | Tedeh 9 T AT 5 37 TUTRA gl

(Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question
carries 5 marks.)




Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Section-A
fregl 9T weal & 39X ST (Answer any five questions) 2x5=10
iR T S.|. AFS  faW? FI7T Ig ATl Sl oals W AR FIar 87

Write the S.I unit of resistivity? Whether it depends upon length of a conductor?
o] fegd aRuel & Wd & A AR HA H [&Gegd 3Uol 1 S5 & ar o faf@v)

Write two advantages of connecting electrical devices in parallel with the source in

domestic electrical circuits.

al U8 Y1 T A darst Ol gl W @A 8 g8 Y ST g |

Name two such metals which melt when placed on the palm.

ArAfaf@a # ¥ -l T I Garae 3MATRAT 2 €2 CoHg , CsHs ,CsHs ,CoHa

Which of the following compounds show addition reaction :- C,Hg , CsHg ,C3Hs ,CoH>

IARIhdl & 3T AT FHASIA §7?

What do you understand by inheritance?

NSt Ra & &1y & fAv i Wafas gerd soRer &7

Which chemical substance is responsible for ozone layer depletion
3uifoid wetor R e €72

What is acquired trait?

Section - B

fregl il weat & 39T fSU(Answer any three questions) 5X3=15

UF URTER AR FUSAT & o & g g wenfad g €, o/
(T) Fusel A faegd urr Serr s

(3 FUsel # gaAe faegd ary & feer  Iefe fear s

(c) Fusel & ORI A F&TT # gefd fohar s

How is the magnetic field of a current carrying circular coil is effected by
(a) Increasing the current in the coil
(b)Reversing the direction of current in the coill

(c) Increasing the number of turns in the coil.

Q.9 dleeHe 3R vl & #IE AT HR FdT?

State any three differences between a voltmeter and an ammeter.?



Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

ufffe 3fRfRar Far & 72 gefiewor afga sarear & | s9FT 39AET Fgl KT ST § 2

What is thermite reaction? Explain with equation. Where is it used?

Hifreh T TEE TR JUT & IMUR N Uil Ud TheAlssh el H 31T Hh IR el ?
How will you differentiate between ethanol and ethanoic acid on the basis of physical and
chemical properties?

d @i @ dlieh § Sl garT Ueh faRIV of&for arel eafse Sital &l §&ar A # 96 Sl §7?
What are the different ways in which individuals with a particular trait may increase in a
population.

Ife gAR aRT 3cUIfed ART FHTRT AT fAF=iaoiT g af T ST AR JATIRUT | HIg THT

If all the waste we generate is biodegradable will this have no impact on the environment.

Explain.

foera # day T aXal & SaRHA FT FIT Agcd 87

Explain the importance of fossils in deciding evolutionary relationship.
Section - C

freel i weat & 39T fST(Answer any three questions) 5X3=15

e IR F fasrelr & @ ¥a1 X arel fheer ar Feufaar i carear w7
golfdeeh Al 3R SR & 91T & J7E AR IRofEeH Hi?

Explain any two situations that can cause electrical hazards in domestic circuits?
List in tabular form two major differences between Electric motor and Generator?

fer av 9wy 3mMw A

— VNN M NAAA -

~{ 11~
6V

gfadierer R1, R2, @1 R3 & AW &AW 20, 40,6 Q8 T 3¢ 6 Volt &
S @ @Oe fRar Sar @ ar (1) RYY @ Fel TR (b) URUY H yaried
Fo faegd orT aRefed ST (c) I3+ IRy & gaifed faegd amT aRewfard
fferA?



Q.17

Q.18

Q.19

In the given circuit diagram

— V'V MA NN NNNAAA

— 11~
6V

The values of resistors R1, R2, and R3 are respectively 2 Q, 4 Q and 6 Q. They are

connected to a 6 volt battery, then calculate (a) the total resistance of the circuit (b) the

total current flowing in the circuit (c) current through each resistor.

T AT Herg A Hifaw 0T & YR WA TS A |
Explain the difference between metals and non-metals on the basis of physical properties.

AT U9 FATT 391 Pl 3GIEI0T g HHSISU|

Explain the term analogous and homologous organ with example.

A) FIT YU & AT FIAT FHASTA 872
B) 3T &eRT [l T THEAT 7 Fl H T ANE & Thd 82 el e dliel & gulel
H|

A) What do you mean by waste management?

B) Describe any three ways in which you can contribute to reduce the problem of waste

disposal.



IRES Qe ST Td UrI&or uikeg, e (FIRTS)
(Jharkhand Council of Educational Research and Training, Ranchi Jharkhand)
fa<Ta Trafie aier -2021-2022
Second Terminal Examination - 2021-2022
Ared UY-Ux ¥e- 1
Model Question-paper set -1

- 10| fdvg-  gEIGie {9 | QUl- 40 |[§HT - 1:30 ©C

(Class-10) | (Sub-Social Science ) (F.M-40) (Time- 1:30 hours)

Y

g Hegr- (General Instruction)

giereff gy s Tsg) 3 3V 3/ (Examinee write answer in their own words as far as

practicable.)

WH&?&?F@MQ ?/ (The total number of questions is 19)

Y1 GGY7 TF SHATgTIT gy 81 577 T f567 ure g8 & IV SfddaH v qiFy 7 a9/
JAE TY &T 17 2 & [T ?/ (Question 1 to Question 7 are very short answer type

guestions. Answer any five of these questions in at most one sentence. Each question

carries 2 marks.)

T8 G TY 14 T TG TY 81 F7H G 1561 5 T4 & TR 3HFHaH 50 Tsql 7 forg/
JF gy T HT 3 3 [Fea 63/ (Question 8 to Question 14 are short answer type

guestions. Answer any five of these questions in at most 50 words. Each question carries 2

marks.)

Ty TR 15 T T 19 TF TIFT0T T4 &1 578 G [5781 i1 T8 & TV AHaH 100 Fsal F
gorg/ JAF T4 HTHIT5 3 [T ?/ (Question 15 to Question 19 are long answer type

guestions. Answer any Three of these questions in at most 100 words. Each question

carries 5 marks.)

IR vy : P ara v F Sw

1. RS¥U T U1 & (‘II(‘—IJ%? (What do you mean by rinderpaste?)

2.

aﬁmmﬂa‘qw &hd Gﬁ? d?'éTW‘J-[ E_ss?( Where and when did the

Industrial Revolution first start?)

3. Hﬁﬁmﬂm ST aTel &l dd?@ﬁ%?ﬂ%@.( Name two energy

4.

resources used in homes.)

YR AP BT B RITAI e gs 2 3R THD TRIUSH B 47 (When
was the Indian National Congress established and who was the founder of
this?)




5. dlbdd Bl q«,\|5° 33[ ﬂtﬁﬁ'@[ Ca| ]%l@.( Write any tow challenges to democracy.)
6. T B GIRUIT PISTT2( Define money?)

. \SQIQ(\IONUI ﬁ ] dIcLIJ %?( What is meant by liberalization?

\l

T vy : frgf g usl IR S
8. %%ﬁmm T 3T EPZITHTI@?[ %'?( What do you understand by globalization?)
. fore ot afger smRT A T St 7929 oR g9 &1 fbu?( why did
women workers in Britain attack the Spinning Jenny Machine?

10. YRd & U W B o1 A1 Fal 3R 34 I & AT &F maxas
U-ﬁTnm E‘G‘IITGﬁ 3! ford., (Name one food crop of India and write two

important geographical conditions for its cultivation.)
11. NIHfd® &d &1 a1 3 G\Idl %? (What is meant by a political party?)
12. @edd fT =0 § U ITRER W 872 (In what form is democracy a
responsible government?)

13.  SifaRad ga1 arel AT 3R STERdHe ANl & §1d dob [ dRg TRl
Dl %?( How do banks mediate between people with surplus money and
those in need?)

14. {3y UR G784 & fhel al I &I fard. (Write two objective of

world trade organization.)

(]

drdIwita uy: fo=gY i1 weii & IR ¢

15. Sf-77 <0 Y 319 T ﬂtlgla %.?( What do you understand by G-77
countries?)

16. QIdhdlieid XM AT & THET AR B I T 52 What is the
challenge of expansion before the democratic systems of governance?)

17.0% iR | a1 Dt YHDHT 1 fddemT DI, Discuss the role of

money in an economy.)

18.4URd § @? Efﬂi T Y™ Iwad %, a:a‘f?( The future of solar energy is
bright in India, why?)



AFRE & YR W A19d G- 3R M0l IdTeeH Isd! & A1 ford (write

19.
the names of rice major and minor producing states on the basis of the map.)

Y
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IRES Qe ST Td UrRI&or uikeg A (FIRIS)
(Jharkhand Council of Educational Research and Training, Ranchi Jharkhand)
facar Tmafies uien2022-2021-

Second Terminal Examination - 2021-2022
Tled UY-UA Ie -2
Model Question-paper set -2

g

(Class-10) Social Science ) (F.M-40) 1:30 hours)

10 | fowg- QEIo® fa™ (Sub- | QUM®- 40 | 9HT - 1:30 ©c¢ (Time-

Y VY

1.

g Fe -(General Instruction)

el gyraya s el § G ]/ (Examinee write answer in their own words as far as

practicable.)

WH&?&?F@MQ ?/ (The total number of questions is 19)

Y1 T 7 TF HITGIIT TY &1 578 & [5%] Gia 787 & IR SffwaT vk argd 7 Gy
JAF TY &T 17 2 3 [T ?/ (Question 1 to Question 7 are very short answer type

guestions. Answer any five of these questions in at most one sentence. Each question

carries 2 marks.)

T8 G TY 14 T TG TH 81 F7H G 1561 5 T4 & TR HFHaH 50 Tsql 7 forg/
JF gy T HT 3 3 [Fea 63/ (Question 8 to Question 14 are short answer type

guestions. Answer any five of these questions in at most 50 words. Each question carries 2

marks.)

Ty TBIT15 T T 19 TF IFT0T T4 &1 578 G [5757 i1 781 & FTv AHaH 100 Fsal F
giforg/ JAFE TY HT HIT5 3 [T ?/ (Question 15 to Question 19 are long answer type

guestions. Answer any Three of these questions in at most 100 words. Each question

carries 5 marks.)

IR vy o vsi F W e

Uy 3y gg & 91¢ fay I fhg Jdhe T AHAT HAT UST UT? (What

crisis did the world face after the First World War?)

2.

IR ﬁ:f Eﬁ?f q? DT AT Eb_PfEﬁHT Y[? (Who were the 'jobbers'? What

was his work?)

3.
4.

SHaTeH 3ol &b SGoRUI 4 (Give examples of fossil energy.)
Wfﬁﬂ'@q QIWP‘II?IOI‘) a1 hI dTH GICIIQ. (Name any two national

political parties.)



5. SIAfdE ol b JHES GGG BT g T 82 (What is the challenge of
dynasty in the political parties?)

6. CIYIRSER a'cb 2G| (‘IlclMr %? (What is meant by commercial bank?)

7. iU T 82 (What is Globalization?)

agada vy frgi gy IR S
8. BI-Ar T T T ﬂﬂglﬁ %? (What do you mean by 'corn-Law'?)

9. XA UGG 3OREA! al & 3fd dd ST W Ugd 7T T, Fi? H&g |
IR ford. (Surat port was marginalized by the end of eighteenth century, why?

Write the answer in brief.)

10. HRdH JHY HIgdr &3 HTAH <. (Name the major coal fields in India.)
11.  I[SHdP Gl & YR & U] & aR H Tl (Explain the reform
measures of political parties.)

12. Abdd [$Y UBR BT I T HIRT %? (Democracy is what type of
legal system of government?)

13.  [d®brg & BT Bt @W 1 [ARAWUT BIFSTT. (Analyze the role of credit in

development.)

14, FU D U BT I By, (Mention the terms of the loan.)

g uy: e A usf I ¢
15. G IUAUAT IR deb+ile & YT I G & oW SAer A &1 SEeRu

%f. (Give two examples from history to show the impact of technology on food
availability.)

16.  didbad U Al gall B fafia Y13l & RSN &Y. (Explain the
various roles of political parties in a democracy.)

17. G ¥ H ¥ UDHR IgIP1a Ui fbd UebR Ied1e a1 e W
=0 RiIfUd Hd! %? (How do multinational companies establish control over

production or production in other countries?)




18. URIYF Sifad ﬁﬂfé’ ?f@[ Gal an:r P, (Describe early subsistence
agriculture.)

19. AHARA H uelRid @R Saes o Td U & A &1 fHa H3-
SOIRIGTT, 3SR, Wig 3% &, favmana— iR HITS. (Match the names

of the mineral producing centers and ports displayed in the map- Hazaribagh,
Ajmer, Iron Ore Area, Visakhapatnam and Mangaluru.)




IRTS Qe rIHYM Td UReor gRyg et (FRES)
(Jharkhand Council of Educational Research and Training, Ranchi Jharkhand)
facar Tmafies uien2022-2021-

Second Terminal Examination - 2021-2022
Hied UY-U4 Ic -3
Model Question-paper set -3

F-10 fg- ST fasm quifes-40 7T - 1:30 ©C (Time-
(Class-10) (Sub-Social Science ) (F.M-40) 1:30 hours)

A fdw -(General Instruction)

giereff Fyrgya s Teg) 3 3V 3/ (Examinee write answer in their own words as far as

practicable.)

Wﬂ%’f&ﬁ@@ﬂg ?/ (The total number of questions is 19)

T 1 TTY7 TF HITLRIT T4 81 378 & 1551 Gia g841 & Fav sifdwad v arey 4 g/
T gy HT J17 2 3 e 63/ (Question 1 to Question 7 are very short answer type

guestions. Answer any five of these questions in at most one sentence. Each question

carries 2 marks.)

Y8 G Ty 14 TF TITIT TY 81 375 @ 56T 5 74 &F FIR 3fdFHaH 50 Ysql 7 dforw/
JAFE T & HIT 3 3id [FeiRT ?/ (Question 8 to Question 14 are short answer type

guestions. Answer any five of these questions in at most 50 words. Each question carries 2

marks.)

Ty TET15 G T 19 TF GIFTRIT T4 &1 578 G [a567 17 741 & TR 3/fead 100 Fsql T
591 g gy HT H17 5 3 [FE/RT 8/ (Question 15 to Question 19 are long answer type

guestions. Answer any Three of these questions in at most 100 words. Each guestion

carries 5 marks.)

fdagaig vy P uau F WS

1.
2.

3.
4.

5.
there

%:Iﬂ IS B UT? (Who was Henry Ford?)
3N Hifd WWW %? (What do you understand by

Industrial Revolution?)
éﬂ_?ﬂ'q od W W%? (What are regional parties called?)

WG HOd g Obsa %? (What is called Kharif crop?)

aurd | feg e P A TR %? (What kind of governance system is

in Nepal?)



6. faq el o= I & arqd %? (What is meant by foreign investment?)
7. SCRIBRUT ¥ 3T 31 FI'I'(‘TCT%? (What do you mean by liberalization?)

AR Uy PR ua Ui FIWE
8. 1929 S. ! HGTH! BT ST & U UST B aTel ATl UR o’ UHTd

UsSI? (What was the impact of the Great Crisis of 1929 on the jute growers of
Bengal?)

9. JANA! U4l & PRIU H $& IUNTUR TRAI I Sod T F HIH HR-d
fiffren] I WUHSHT od 2), i (Why did some industrialists in nineteenth

century in Europe prefer manual workers over machines?)

10. Ugd Joil R fewuft %@.( Write a comment on wind energy.)

11. oIS [yl & YHd HTd o] %? (What is the main function of a political
party?)

12. I BT ARBR BT Aldca Bl I[ATAT §, H? (Right to Information
Act is the keeper of democracy, how?)

13. éﬁ P AT H H¥ JId A1 %? (What are the main sources of income of
banks?)

14.  UR 3R fFaw Hifaal &1 IRtz dsfiemu uftar & frd gaR
eI UgaNd! & fog! <1 Ufeharsii &1 IeRd HR 1 (Mention any three

processes how liberalization of trade and investment policies helps in the process

of globalization.)

deTiguy: e A usf H Ix ¢

15. % ST HUAT A YR TABRI A il 3R =M HYg &1 Faiia
&nqﬁfﬁﬁr@amﬁ$%ﬁw%mv (What did the East India Company do to

ensure a regular supply of cotton and silk cloth from Indian weavers?)
16. b HRUT Y AHda BT 3T IR F S8R TR 7T 82 (For what
reasons democracy is said to be better than other governance?)




17. &I ATTAHAISN & aleR GaIT &t el &l f6g UHR o 82

JaloXUl R JALTU |( How does money solve the problems of double
coincidence of needs? Explain with examples.)

18.  URA H T IATGH Iodl o A1 ford 3R 71 ST B URnicid
uRfRufaat &1 gule &9, (Name the sugarcane producing states in India and
describe the geographical conditions of sugarcane production.)

19. YR & fQU 7T g & i SR ardig SHoif i & 14 &1 fHaH
Pe- :Ia?ﬁ, Ob\NGII, tisil;li, [ddHICT 3?[? R, (Match the names of atomic and
thermal energy centers in the given map of India- Naveli, Korba, Chandrapur,
Rawatbhata and Narora.)




IRTS Qe rIHYM Td UReor gRyg et (FRES)
(Jharkhand Council of Educational Research and Training, Ranchi Jharkhand)
facar Tmafies uien2022-2021-

Second Terminal Examination - 2021-2022
Hied UY-UA U< -4
Model Question-paper set -4

=g

10 | fawa- grrfoies faqm quifes- 40 | THT - 1:30 < (Time-

(Class-10) (Sub-Social Science ) (F.M-40) 1:30 hours)

A fdw -(General Instruction)

giereff Fyrgya s Teg) 3 3V 3/ (Examinee write answer in their own words as far as

practicable.)

Wﬂ%’f&ﬁ@@ﬂg ?/ (The total number of questions is 19)

T 1 TTY7 TF HITLRIT T4 81 378 & 1551 Gia g841 & Fav sifdwad v arey 4 g/
T gy HT J17 2 3 e 63/ (Question 1 to Question 7 are very short answer type

guestions. Answer any five of these questions in at most one sentence. Each question

carries 2 marks.)

Ty 8 G Ty 14 TF TITIT TY 81 375 @ 675 74t &F FIR 3fdFaq 50 Ysql 7 dforw/
JAFE T & HIT 3 3id [FeiRT ?/ (Question 8 to Question 14 are short answer type

guestions. Answer any five of these questions in at most 50 words. Each question carries 2

marks.)

Ty TET15 G T 19 TF GIFTIT T4 &1 578 G [a567 17 741 & TR 3/f&ad 100 Fsql T
591 g gy HT H17 5 3 [FE/RT 8/ (Question 15 to Question 19 are long answer type

guestions. Answer any Three of these questions in at most 100 words. Each guestion

carries 5 marks.)

fdagaig vy P uau F WS

1. “HIYId R[eh’ T 3T HTI_SEI?T %? (What do you understand by 'import
duty'?)
2. YRdH WY YFH a3 [ Ha 3R Bl R B1 7T5 21?2 (When and

where was the first modern textile mill established in India?)

3.

URd § gH Wt fHT S ard 4 T & A1 foRd. (Write the names of 4

states where Jhoom is cultivated in India.)




4, HRA H G IIRT fhd UHR &l %? (What is the type of party system in
India?)

5. diedd H URGRIAr T 3T T HTI%I?T %"? (What do you understand by
transparency in a democracy?)

6. Hl & Ob\lsr 33f ST ! ford. (Write any two functions of money.)

7. IR ARIYPH I T ?‘I'I_cqtf%? (What is meant by trade barrier?)

AR Uy PR ua U FIWE
8. T Y ¥ §U % DI &l T [ARITdrS BT Ich HI. (Mention two

main features of hand made cloth.)

9. 3% 3fSTT HUHl 7 URA H AR R FRMT T@ o g H=al &
ﬁgﬂﬂ foar YT, dau H guiq &3, (The East India Company appointed Gumashtas

to keep a watch on the weavers in India, describe in brief.)
10. Bﬁ el & &0 Pt HTHIT F %? (Why do we need to conserve

minerals?)

ON ON

11. YNHd® gd & BT BT JUI P, (Describe the functions of a political
party.)

12. &M &1 UG didbdd & W ﬂ:ﬁ?ﬂ %, HI? (Lack of education is a
challenge to democracy, how?)

13.  BU I Idl BT IR DY | (Mention the terms of the loan.)
14, Iy IMUR W19 (WT0) & gl & Ig=Al &I o1 (Write any two

objectives of World Trade Organization (WTO).

driemauy: fFi A usi F o S
15. YR et iR I@mﬂ & YYUTA] Dt TARSAT B, (Explain the effects

of the Great Depression on the Indian economy.)



16. U dHRIMe! R &I ol § dlcbdi-ad A 8 AFTRS! Bl TRAT
3R IS ARCE ICEL| % Ha? (How is the dignity and freedom of citizens
maintained in a democratic government as compared to a dictatorial regime?)

17. HUR 3R fae=r Hfaal &1 IaRieRur afie=ur o1 ufesar & g yaR
BSERE %? (How liberalization of trade and foreign policies is helpful in the
process of globalization?)

18.  HRdAM™ ?ﬁ[ IR d4IHRUT & UHTEl TR JUM B, (Describe the effects of
globalization on Indian agriculture.)

19. f3U U OMfA & YR WR 5 YHE g IdeP 4! o A4 ford. (write

the names of 5 major wheat producing states on the basis of the given map.)
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RS Qe U Td Uinefmr uRug, A (FRES)
(Jharkhand Council of Educational Research and Training, Ranchi Jharkhand)

fodta Trafde udtam -2021-2022

Second Terminal Examination - 2021-2022
Aled UY-UF 9e- 5
Model Question-paper set -5

=g

10 | fova- gmo® fas= (Sub- | QUG- 40 | ¥HT - 1:30 ©¢ (Time-

(Class-10) Social Science ) (F.M-40) 1:30 hours)

Y

g Hegr- (General Instruction)

giereff gy s Teg) 3 3V 3/ (Examinee write answer in their own words as far as
practicable.)

WH&?&?F@MQ ?/ (The total number of questions is 19)

Ty 1 QY7 TF HITTIRIT 7Y 81 378 @ 5% gia gt & Fav sifddan v arey 1 e/
JAF TY &T 17 2 3 [T ?/ (Question 1 to Question 7 are very short answer type

guestions. Answer any five of these questions in at most one sentence. Each question
carries 2 marks.)

T8 G TY 14 T TG TH 81 F7H G 61 5 T4 & TR H9FHaH 50 Tsql 7 forg/
JF gy T 7 3 i [FeRa 63/ (Question 8 to Question 14 are short answer type
guestions. Answer any five of these questions in at most 50 words. Each question carries 2
marks.)

Ty TBIT15 T T 19 TF TIFT0T 79 &1 578 G [5751 i1 T8 & FTv HHaH 100 Fsal F
giforg/ JAFE TY HTHIT5 3 [T ?/ (Question 15 to Question 19 are long answer type

guestions. Answer any Three of these questions in at most 100 words. Each question
carries 5 marks.)

fferergeiy wy : fP=Y ufg welf F IR S
Wﬁﬁ@ﬂﬁmaﬂﬁm@ﬂﬁﬁwmﬁﬁ (What is a disease

that spreads like a plague in animals called?)

2. HTT S5 BT TTHR fha= fHAT UT? (Who invented the steam engine?)

HRAd A IUSTT O aTdl fhol @R AU HBIAl & 11 foRkd.(Name any four

plantation crops grown in India.)

Eﬁ\_ﬂTﬂT%? (What is a mineral?)
HRA H IHdP gal bl AT fhat %? (How many political parties are
there in India?)

Page 1 0of 3




6. dgold HHI grdf & TRIUS B A? (Who was the founder of Bahujan
Samaj Party?)
7. qo1 ! fafg &1 A1eqw i Hel STl 82 (Why is money called a medium of

exchange?)

AT vy : gt uia vl & SR S

8. SN-77 &I TITGAT T DI 1TEF? (Why was G-77 established?)
9. Ugd Ay g5 & THT HRA &1 3Id IdTe- & §a1? (Why did India's

industrial production increase during the First World War?)

10. HRdH c?ls 3D & fdhol diF [daRUT &5 o =19 ford. (Name any three

distribution area of iron ore in India.)
ANNICRER RIS IBIRED c;ﬂ\l' Pl STBd 3213[%? (Why are political parties needed in
a democracy?)

12. @bdd g UeR groe fafauyaret # e RiTftd Hdr 82 (How

does democracy reconcile social diversities?)

13. %%ﬁw T 3y Wﬂﬂ%ﬁ %'? (What do you mean by globalization?)

14. EETI@“C[ S iao% ol SldI %? (What are called multinational
companies?)

SrdSwa uy: fp=at i1 weii & IR &

15. ‘P4 A YA HHA & IR A 9o TRPR & B & YHTG! I RS

ﬁ. (Explain the impact of the decision of the British Government to abolish
'‘Corn Law'.)

16. SHfd® gdl & JUR o JUTI P =4l BY. (Discuss the reform measures
of political parties.)

17. W%W@WW%WﬁWﬁI (Explain the

difference between formal and informal sources of credit.)

Page 2 of 3



18. YRd ¥ IR P Wil HEl B Sl 87 3D HaLIH UM gRfufaal
P quiT B, (Where is tea cultivated in India? Describe its essential
geographical conditions.)

19. HHRE &I Ugdhx QU U A ffed & & I fafdu- Fac s
M, FRAT-IFANS, [GTer, 4o 8. RIRAL (Read the map and write

given located area name- Naveli Coalmine , Jhariya-Raniganj, Digboi,
Mumbai high, Singreni)

Page 3 of 3



sRgUs AT rquu va gfaTor aRwg W (FIREUS)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING RANCHI (JHARKHAND)
gfada grafas gdiem (2021 - 22)
SECOND TERMINAL EXAMINATION (2021-22)
gfaeel 92 93 (Model Question Paper)

ac - 1 (Set - 1)
et - 10 Ty - arfosx JAT - 1.5 ger quiies - 40
Class - X Subject - Time - 1.5 Hrs F.M. - 40
Commerce

AT fAder- (General Instruction)
qitatreft JuyTEsg U ersEY A IW &I

1

2
0’0

(Examinee write answer in their own words as far as practicable.)

2
0’0

Tl el iy wEwT 19 B
(The total number of questions is 19.)

W 1 ¥ e 7 aF Afaergady wear g1 oA @ Brelt ofw weat & IW wfwaw vE aww F AfSw v@Aw wea
FT AW 2 3% Ul 2

(Question 1 to Question 7 are very short answer type questions. Answer any five of these questions in

R
%

at most one sentence. Each question carries 2 marks.)

< WA 8 ¥ WO 14 OF YA WeeT ¥ 1A ¥ Rredl 5 weall & 3w NfUwaw 50 weal H AVwl vAF weer
AT 3 3w fuiRa #

(Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 2 marks.)

< 9T HEAT 15 ¥ W 19 dF QE3adT Wed &1 I & fhegl i weal & 3R rfWFasd 100 reat # HfSw)
gd® WA FT AT 5 3F fuRa gl

(Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in at
most 100 words. Each question carries 5 marks.)

faflrse fader (Special Instruction) :- @UZ ‘37 3ryar ‘@@ # & Rl v @Us & WAl F 3 AEAER & |



Answer the questions of either Part ‘A’ or Part ‘B’ as directed .

@US I} (SI9HT & dcd)

Part A (Elements of Business)

—

. 9t 93 Fa7 § ? (What is Promissory Note ?)

. Y@ifehd d& F1 § ? (What is a crossed cheque ?)

. d& groe Fr g fIfST| (Define Bank Draft )

. U & YSaTehel ¥ FIT HASIA &7 (What do you understand by Endorsement of cheque ?)

. [afaszare gor@ 1 #ig v fadwar fo| (Write any one feature of Negotiable Instrument.)
. faux &1 AdEIOT FAT §? (What is renewal of a bill ?)

digdh U Tohd ded &2 (What is a bearer cheque ?)

. Y@Ifehd Td el Ueh H &1 IR §? (What is the difference between crossed and open cheque ?)
S T 7T fARdATT §?(What are the characteristics of Hundi ?)

10. I & YW@ & AT & ford|(Write down the rules to cross a cheque .)

1.9 &1 Tk o= &1 (Give the specimen of a bill .)

© © N O g A W N

12. 70T Tehfa T 9fden oF # 3’ Tuse Hi|(Differentiate between Loan acceptance and Promissory
note.)

13. “Uoh T Ad Ued AAAT ATET Joi@ g1” TS Y| (“Cheque is an unconditional Negotiable
Instrument.” Discuss.)

14. fafasa RQus fir FI5 3 [AAVAT | (Give any three features of Bills of Exchange.)

15. Afa# T AuT Jar 9% # AR TIse HL| (Differentiate between Bills of Exchange and Cheque.)

16. I3 Ik HI guIA Y| (Explain Traveller's Cheque.)

17. g‘s‘,’r & TAfAesT USRI F guTT FT(Explain different types of Hundi.)

18. ufaraar g Fr fAAVAT3it &1 ford|(Write the features of Promissory Note.)

19. fafesT gam3il & A T HaTaT el W S HiT FAfAGT &1 auier #I(Explain the position of a Bank
in payment of a cheque in various condition.)

GUs ¥ ( SEIEIdr JUT W & dcd)

Part B (Elements of Book Keeping and Accountancy)




. 3feTT & 39 FAT FASIA § ? (What do you understand of errors)?

S oo for@dr & ,38 &1 gl o1 g ? (What is called one who draws the bill ?)

. 9faar 99 & 39 FA1 FHESIT & ? (What do you understand by Promissory Note ?)

FUR T yiafse a1 § ? (What is meant by rectifying entry ?)

& fafy #r & ?2(What is due date ?)

3798 feaw fohael f&eT &1 gYar §2(How long is grace day) ?

3ddr @rar 47 §? (What is suspense account ?)

IOl @I fhdel 89 & 7T ST Gehel &2 A fad|(Errors can be categorised in how many parts

? Name them.)

9. 319E f&aw @ 39 FAT @HSIA § ? (Explain days of grace) ?

10. ¢ aur facel Afesa faua & dier 37ax ford |(Write three differences between Inland and Foreign
Bill.)

11. JAfaF T [Aus & ggteRrt &1 ford|(Write the Parties of Bill of Exchange .)

12. a9 &1 a4 Fhfa & dieT 3Maedes Adl @1 ferd|(Mention any three necessary conditions for

acceptance of bill .)

©® N o g~ w DD =

13. 9= 95 & Teh =1 &l (Give the specimen of a promissory note.)
14,733 & ¥500 9Ted §U oifehed WA & Wi # AT 9 faw 10" - 3R T U HT(‘Received 500
from Ram but credited to Rahim.”- Rectify the error.)
15. fafaaa foer & F7ar fAAwaw §2? (What is characteristics of bills of exchange) ?
16. fo¥e=T 3mreferdl & gur &Y (Rectify the following errors):-
a. fasha amdll g&as & 60 A Si1s T g1( Sales returns book has been added Z60 short .)
b. #MFAN &I ATFAT A S a1 T400 N A A AMAY & Hed # s &A1 a1amI(Repairs of
machinery ¥400 have been added to machinery account .)
17. _faaT e Far §2 I gfaar 99 4 g R = §2(What is a bill of exchange ? How is it
different from a promissory note ?)
18. camaRes T 3ieqare fafa@g 93 & 3R fad| (Write differences in Trade bill and Accommodation
bill.)

19. fae=T gem3tt &7 foar $r ¢ fAfdar eifev (Calculate the due dates of the bills in following cases)



a. faof &r Af¥ (Date of bill) - 1 January 2017 , 37af&r (Period) - 3 #AE (3 months)
b. faer &r faf¥ (Date of bill) - 30 April 2017 , 3/@f&r (Period) - 2 ATE (2 months)
c. faor &r fafd (Date of bill) - 15 January 2016 , 3@ (Period) - 60 f&aT (60 Days)



sRgUs AT rquu va gfaTor aRwg W (FIREUS)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING RANCHI (JHARKHAND)
gfada grafas gdiem (2021 - 22)
SECOND TERMINAL EXAMINATION (2021-22)
gfaeel 92 93 (Model Question Paper)

ac - 2 (Set - 2)
et - 10 Ty - arfosx JAT - 1.5 ger quiies - 40
Class - X Subject - Time - 1.5 Hrs F.M. - 40
Commerce

AT fAder- (General Instruction)
qitatreft JuyTEsg U ersEY A IW &I

1

2
0’0

(Examinee write answer in their own words as far as practicable.)

2
0’0

Tl el iy wEwT 19 B
(The total number of questions is 19.)

W 1 ¥ W 7 aF Afaergady wear g1 oA @ Bl ofg weat & IW wfwaw vF aww F AfSw v@Aw wea
FT AW 2 3% Ul 2

(Question 1 to Question 7 are very short answer type questions. Answer any five of these questions in

R
%

at most one sentence. Each question carries 2 marks.)

< WA 8 ¥ WO 14 OF YA WeeT ¥ 1A ¥ Rredl 5 weall & 3w NfUwaw 50 weal H AVwl vAF weer
AT 3 3w fuiRa #

(Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 2 marks.)

< 9T HEAT 15 ¥ W 19 dF QE3adT Wed &1 I & fhegl i weal & 3R rfWFasd 100 reat # HfSw)
gd® WA FT AT 5 3F fuRa gl

(Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in at
most 100 words. Each question carries 5 marks.)

faflrse fader (Special Instruction) :- @UZ ‘37 3ryar ‘@@ # & Rl v @Us & WAl F 3 AEAER & |



o g A~ w b

10.
11.
12.
13.
14.

15.
16.
17.
18.

19.

Answer the questions of either Part ‘A’ or Part ‘B’ as directed .

@US I} (SI9HT & dcd)

Part A (Elements of Business)

JUIAYRY & 319 Fa71 §H7sd 67 (What do you understand by Holder in due course ?)

Jeh Hr qRemer &fSwl (Define Cheque.)

379rg f&aw &1 82 (What are Days of grace?)

AT dr Tipfd HleT & Fhel 82 (Who can accept the bill ?)

gfaqor &1 § ? (What is counterfoil ?)

Y o ATYRUT IWihe] T 3T FIT FASTT 82 (What do you understand by general crossing of
cheque ?)

fafeg fauT v AAifea E&pfa s 82 (What is conditional acceptance of bills of exchange ?)
U & Wi & died A Sl ford|(Write any three rules of crossing a cheque.)

ATy voi@ aRemwr &| fheer o Afagarey gye@r & A ford|(Define Negotiable instruments.
Name any two negotiable instruments.)

feaT faua &1 fhegl 3 393t & for|(Mention any three utilities of bills of exchange.)

Uch o AT & fohegl diel RO & ford|(Mention any three reasons of dishonour of cheque.)
aux &7 Afcer 7 et 1Al &1 3eer@ fhar SITar §2(Which things are mentioned in Noting of a bill?)
39T & YR W g $ THRT & guid &Yl (Explain the types of Hundi on the basis of tenure.)
S SaRT deh HT I I AT fohedl al TaaRoiT f&g3it a1 fod|(Write any two points to be
considered by Bank while making payment of cheque.)

Y STl Fr TAAYAT3T 1 guTT Y I(Explain characteristics of valid endorsement.)

I AT g A I’ FIT F|(Differentiate between cheque and hundi.)

faa faua & Affie gaent &1 fagewor &YI(Analyze various uses of a bill of exchange.)

U for@d TFT Pl @ Graafaar 3maas § ? guid wY|(What are the necessary precautions while
writing a cheque? Explain.)

foreT aRTEATAT # faua & 3eATeRoT T Fa=lr a1 31aFeh 7gl 82(In which circumstances

information about dishonour of bill is not necessary?)

GUs ¥ ( EIEIdr JUT W & dcd)




Part B (Elements of Book Keeping and Accountancy)

—

T & TAHR I aTell FAT FHgalldl § ? (One who accepts the bill is called ?)
cfaueha rEfeat & Tase HAfSTI(Explain double sided errors.)

. faux &1 aRueaar fafyr & 39 a1 g#sTa § ?(What do you understand by Date of maturity of a bill
?)

@ N

M g FHAIST @Tar F471 g2 (What is Profit and Loss Adjustment Account ?)
. QuT & 37eTeRoT ¥ 3T FAT FFSAS £2 (What do you understand by Dishonour of Bill ?)
. Gl T 3RMEf® & 39 F41 FHSIA g?(What do you understand by Error of Posting ?)
AT 1 TfSe @ fafeaT faua & Rt @ fad| (Write the types of Bills of Exchange on the basis
of Payment.)
feeT foear X aferea feoqolt faf@w (Write a short note on bill of exchange.)
. Gfgred & 371 §asv (Explain in brief, the meaning of:)
a. =iiféar =a4( Noting Charges)
b. faer &r 3m™fasar (dishonour of the Bill)
10. 3r[eferdt &1 fdes oY a1 wemra gsar g2 (What is the effect of errors on the balance sheet)?
11.31970 & a9d 9o 32000 & ATl T @I w761 §HT- $H IRYGMT HT FUR $R| (Goods returned from
Abhay ¥2000 were not recorded.)
12. 91 UaH ¢ foel & F1 37k § ? ( What is the difference between Bill Receivable and Payable ?)
13. 77 IRETRAT S TN & fhar STU & 41 we7a g Tehd &?(What can be the effects if the
errors are not rectified?)
14. 7T 9 & gaTRT &1 ford|(Write the Parties of Bill of Exchange .)
15.1 STofadl 2021 & TH o Hdr 9 I5000 & T 6 1 FEl & foIv for@r | dar 38 FhR a e A
& T | et fAfy oX 9T &7 oferaet g1 T H BT 9 H ASTenaan S or Hi(On st

January 2021 ,Ram drew a bill of 5000 on Sita for one month. Sita accepted the same and

N o o oA

©

gave to Ram. on the due date the bill was paid . Pass journal entries in the books of Ram.)
16. YefOTT & GUR & 31T FI1 FASA ¢ ? I &A1 31aeIsh §27( What do you mean by rectification of
errors? Why are they necessary?)
17.fo%T 3REfedl & FuR 8 Sole oW HITST (Pass Journal Entries for the rectification of following

errors):-



a. T5000 & T IIHT I T Wid & sfaec # for@r 1am| (Purchase returns of 5000 were
posted to the debit of Purchase A/c)
b. 16000 & =T9re fasha & faspa @a & T6000 for@r a=m|(Cash sales of ¥16000 were posted
as 36000 in Sales Alc.)
18. fafasa aux & a7 ot §2(What are the benefits of A Bills of Exchange ?)
19. wsh uefy vd gfauefa el & Tase &9 & §ASSU |(Explain clearly one sided and two sided

errors.)



sRgUs AT rquu va gfaTor aRwg W (FIREUS)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING RANCHI (JHARKHAND)
gfada grafas gdiem (2021 - 22)
SECOND TERMINAL EXAMINATION (2021-22)
gfaeel 92 93 (Model Question Paper)

ac - 3 (Set - 3)
et - 10 Ty - arfosx JAT - 1.5 ger quiies - 40
Class - X Subject - Time - 1.5 Hrs F.M. - 40
Commerce

AT fAder- (General Instruction)
qitatreft JuyTEsg U ersEY A IW &I

1

2
0’0

(Examinee write answer in their own words as far as practicable.)

2
0’0

Tl el iy wEwT 19 B
(The total number of questions is 19.)

W 1 ¥ W 7 aF Afaergady wear g1 oA @ Bl ofg weat & IW wfwaw vF aww F AfSw v@Aw wea
FT AW 2 3% Ul 2

(Question 1 to Question 7 are very short answer type questions. Answer any five of these questions in

R
%

at most one sentence. Each question carries 2 marks.)

< WA 8 ¥ WO 14 OF YA WeeT ¥ 1A ¥ Rredl 5 weall & 3w NfUwaw 50 weal H AVwl vAF weer
AT 3 3w fuiRa #

(Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 2 marks.)

< 9T HEAT 15 ¥ W 19 dF QE3adT Wed &1 I & fhegl i weal & 3R rfWFasd 100 reat # HfSw)
gd® WA FT AT 5 3F fuRa gl

(Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in at
most 100 words. Each question carries 5 marks.)

faflrse fader (Special Instruction) :- @UZ ‘37 3ryar ‘@@ # & Rl v @Us & WAl F 3 AEAER & |



1.

10.

11

13.
14.
15.

16.
17.

Answer the questions of either Part ‘A’ or Part ‘B’ as directed .

@US I} (SI9HT & dcd)

Part A (Elements of Business)

3T FHAT & folT YAV & 39 &1 HsTd &2 (What do you understand by Protest for B
Security ?

Il Sy gfSe @ fafay faus & gaRi @ fad| (Write the types of Bills of Exchange on the basis
of Payment.)

9ot I & FA1 § ? (What is incomplete cheque ?)

3TerT fd dgd & ? (Who is known as Payee ?)

ux & aRusFadr AfTr & 317 Far FFsTad § ?(What do you understand by Date of maturity of a bill
?)

QMESIeT §?r Fa71 § ? (What is Shahjog Hundi ?)

gfaefad 9ameT R ®gd & ? (What do you understand by Restrictive Endorsement ?)

Ueh & YSiche] HUAT FHTel T FIT ITaRTehal & ? (What is the necessity of Endorsement of Cheque
?)

e U9H ¢J fAuF # &1 JR g ? ( What is the difference between Bill Receivable and Payable
?)

9T & I8THRI & FIT gIfdca & ? (What are the liabilities of Parties of bill?)

XWTeheT & YhRT sl ASTT? (State the types of crossing .)
12.

AWF F FEAET SO gt HT AT 7 AF FT AT I W d Fr 7 Al @ 82 (What is the
position of a bank on payment of a cheque in case of forge signature of drawer ?)

H"gw gfaar 99 & Th AHAT SI(Give a sample of Joint Promissory Note .)

AUT & YA & fohet Tl T sART I&aT g2 (What things are explained in Protest of Bill ?)
At foer a1 82 I8 9fder 99 ¥ fha 9aR T §2(What is a bill of exchange ? How is it
different from a promissory note ?)

Uk & TANT & STHT FT gUTT HL| (Explain the advantages of the use of a cheque .)

faa areg gerg $r fadwansit & ford |(State the characteristics of Negotiable Instrument.)



18. Afasy AUy for@d @& &l & Fraenf=ar 3mads g2 auia &l (Which precautions are essential

while writing a Bill of Exchange ? Describe .)
19. 9faaT 9 @A g A HR TIC FI (Write the difference between Promissory Note and Hundi.)
U3 d (SRl JUT JERME & dcd)

Part B (Elements of Book Keeping and Accountancy)

—

. g7 &7 U 39T §EATER gl Xl ¢ ? (Where does the holder of the bill put his signature ?)
2. T8 ool 941 Sar § 3§ &1 Fgd ¢ ? (What is the person whom the bill is sold called ?)
e §fa=r & gerr A h| 3Efe 9 SAST T I0TAT Hr Sl § ?(In case of discounting the bill

interest is calculated for which period?)

w

3Tl GTdT $a @rell ol ¢ ? (When is suspense account opened ?)

FATEIT A T FAT o & ? (What is the benefit of noting ?)

Teh Gef 3RER A fhdel geT yeMiad 8ld & ? (How many sides does a unilateral error have ?)
el e WIAT GaRT & FUR foRar ST & ? ( When is rectification done by mistake Omission

N o g &

account?)

feeg foer 9x dféiea feoqoft faf@w| (Write a short note on bill of exchange.)
9. fawafaf@d 1 fd @1 & gRT ST 82 (By what name are the following called ?)

o

(@) S UT TEeR T & (who accepts the bill)
(b) St fa9= F AT & (who endorses the bill)

10. IREIRS forer Fr aiemsT S| (Define an accommodation bill )

1. 3efadt & gurR @ a1 JAAYT 82 (What is meant by rectification of errors ?)

12.A o7 3 AT dlell Teh fdeal B 9X 5 SAadl 2021 & for@r | B & foer & 12 SAadl &l TR |
faer Y sperarer fAfY Fr gl 2(A wrote a 3 month bill on B, 5 January 2021. B also accepted
the bill on 12th January. What will be the payment date of the bill ?)

13. 9% 3R AfdsT fdua & 37k sasvT |(Distinguish between a cheque and a bill of exchange.)

14. 3qefadt & Jifde @rdl 9 @41 ge11d gsdr & ?(What is the effect of errors on final accounts ?)

15.5 37%e ,2021 &I 32000 FTATT A A B HI aar | A o 3 AE Ilell UToh AT 99 B W for@r | B o
foer & TR A HT & e | Erare faf¥ X B & foer &1 sperarer &Y e | B v afedt A
ASAATHAT & @l Y |




(On 5th April 2021 ,A drew a bill of ¥ 2,000 on B for 3 month, B accepted the same and gave

to A. On the due date the bill was paid . Pass journal entries in the books of B.)

16. guR 1 wfafSeat & 39 &1 Fasta § 23R8l & 39 & guar? (What do you mean by the
rectification entries ?How would you rectify the errors?)
17. 11 rqefaat &1 gurR HIfST (- Rectify the following errors):-
a. A @ T7,000 Fr 3UR AT &7 oI@aT T700 fHaAT I1=m|(Credit sales to Mohan 7,000 were
recorded as rupees ¥ 700.)
b. UgT & T 9000 F 3UR T I HFe@T T900 fhaAT I1AT| (Credit purchase from Rohan
39,000 were recorded as %900.)
c. g Fr aadg fhU 1T T4,000 & AT FT AfHer@sr 400 fhar a=m| (Goods returned to Rohan
4,000 where recorded as ¥ 400.)

18. IS dIUE Selal & o1 R[ET HT Tl deldl § dl FF JUR HIA? (How to rectify if error is

detected after

preparation of trial balance ?

19. o1 gems3tt & foai $r ¢ fafy Awifew: (Calculate the due date of the bill in the following

cases):
foet dr fafr (Date of the bill) 3@t (Period)
(@) 1 SeTady, 2020 (1st January, 2020) (@) 3 AE( 3 months)

(b) 30 Feradr 2021( 30 January, 2021) (b) 30 f&&T (30 days)






sRgUs AT rquu va gfaTor aRwg W (FIREUS)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING RANCHI (JHARKHAND)
gfada grafas gdiem (2021 - 22)
SECOND TERMINAL EXAMINATION (2021-22)
gfaeel 92 93 (Model Question Paper)

ac - 3 (Set - 3)
et - 10 Ty - arfosx JAT - 1.5 ger quiies - 40
Class - X Subject - Time - 1.5 Hrs F.M. - 40
Commerce

AT fAder- (General Instruction)
qitatreft JuyTEsg U ersEY A IW &I

1

2
0’0

(Examinee write answer in their own words as far as practicable.)

2
0’0

Tl el iy wEwT 19 B
(The total number of questions is 19.)

W 1 ¥ W 7 aF Afaergady wear g1 oA @ Bl ofg weat & IW wfwaw vF aww F AfSw v@Aw wea
FT AW 2 3% Ul 2

(Question 1 to Question 7 are very short answer type questions. Answer any five of these questions in

R
%

at most one sentence. Each question carries 2 marks.)

< WA 8 ¥ WO 14 OF YA WeeT ¥ 1A ¥ Rredl 5 weall & 3w NfUwaw 50 weal H AVwl vAF weer
AT 3 3w fuiRa #

(Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 2 marks.)

< 9T HEAT 15 ¥ W 19 dF QE3adT Wed &1 I & fhegl i weal & 3R rfWFasd 100 reat # HfSw)
gd® WA FT AT 5 3F fuRa gl

(Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in at
most 100 words. Each question carries 5 marks.)

faflrse fader (Special Instruction) :- @UZ ‘37 3ryar ‘@@ # & Rl v @Us & WAl F 3 AEAER & |



Answer the questions of either Part ‘A’ or Part ‘B’ as directed .

@US I} (SI9HT & dcd)

Part A (Elements of Business)

1. AT AT §-s?r Fa1 8?2 (What is farman jog hundi ?)
2. % geta T ®gd &2 (What are Bank Charges ?)

3. faud & 30 Fpfad & 3T &A1 FASTA 82 (What do you understand by Partial Acceptance of Bill
?)

4. gAIOIT d FI IRAVT FY| (Define Marked Cheque .)

5. 37CRr deh & AT FHSA g2 (What do you understand by order cheque ?

6. Uh o IWihel Pl FAT JHTT g &2 (What is the effect of crossing of cheque ?)

7. STrelr Sa1A &4r § ? (What is Forged Endorsement ?)

8. &t Tur faceh fafasy faux & e 3R fod|(Write three differences between Inland and Foreign

Bill.)

9. RdfawT fAux & gaTdRT & ford|(Write the Parties of Bill of Exchange .)

10. T & e TPl & il 3Maegs dl @ faddi(Mention any three necessary conditions for
acceptance of bill .)

11.9% & Wi H [FT TR g fHAT AT Fehal 2 (How can crossing of cheque be cancelled ?)

12. 3EIAca g ddTeT Hl 361eI0T Algd IRATT L |(Define Sans Recourse Endorsement with an
example.)

13. RfAgarey yoi@ &1 3 TS HY| (Explain the meaning of Negotiable Instrument .)

14. 9 qUT i H A5 3 3R fod| (Write any 3 differences between Cheque and promissory
Note .)

15. faga & SAdIAOT HT guld S |(Explain the Renewal of a Bill.)

16. d 3MFC AT I H 3HaX TASC &Y |(State the differences between Bank Draft and Cheque.)

17. 9% &7 SuTel d A fohet St o earer feam ST g2 avier &¥1(What are the points to be
considered while endorsement of a cheque? Describe.)

18. 9% & Wi H YA fhT ST arer ersai $r saredr Y| (Explain the words used in crossing of a

cheque.)




19. gfa=am 3 & Affie 9&RT Fr auia &L (Explain different types of Promissory Note.)

a » DN

8.
9.

10.
11.
12.

13.
14.
15.
16.
17.

GUs  § ( EIEIdr JUT JEREd & dcd)

Part B (Elements of Book Keeping and Accountancy)

. S {9 1 AT § 3§ FAT heT ST g ? (What is the sender of the bill is called ?)

3eefr fohdal R & gl 82 (How many types of errors are there?)

fd T o3 F1 v oy ford | (Write a benefit of bills of exchange):

Teh gefr 3RE™ AT § ? (What is one sided error?)

delde &1 ol & dlc; fohdeh SaRT 3R[E T UR fhar SITar § 2 (Who rectifies the error after trial
balance is prepared ?)

g & GIdT &7 S8 31 & @iar &l sfaec & foha g &7 3Terdr § ? (Debiting is A's account instead
of B's account is which type of error ?)

SIS fael T $aTclleT YTecT g1 STl & of 38 47 &g 87 (What is a bill called when payment is
received?)

¢Reh ool &l hisT-hleT TATIT X Thdl & ? (Who can use the holder bill?)

Ffedt @ 39 @41 gASA & ? (What do you understand by errors ?)

feaa foor av aféica fecqolt faf@w | (Write a short note on bill of exchange.)

gfaar 93 &1 TAHAT 3T |(Give the specimen of a promissory note.)

3ded @IdT & A& Iear & sgl-shal G@RT Sar & ? (Where is suspense account Shown in

balance sheet ?)

3ea gerarel fafT & 39 Far @A § ? (What do you understand by average payment date ?)
T &7 sa1eT & IR & faf@0| (Write about Endorsement of Bill. )

gfaiT 9T & Y&ThRI I gl &Ll (Explain the parties of promissory note .)

3AAT WIAT FAT § ? Tg e @hell oIl ¢ ? (What is Suspense account ? When is it opened ?)
fArafafad et &1 gur Hifaw:

(37) TH A 500 9red gU fohd FeeT & @A A SfAT R T I |

(&) #ael T FFAT & T 5000 Tg AT H HaT Wi H ST T fedm amm |

(®) %250 T & fow Ferrw 910 foh sarel @ &1 3fde &Y fear o |



(Rectify the following errors :
(@) %500 received from Ram but has been credited to Sohan.
(b) Repairs to building for 5000 was wrongly debited to building account.
(c) %250 Paid for rent has been debited to Interest account.)

18. RAfa# T 9o & [Affie qait &r carear AT | (Describe various parties of bills of exchange .)

19.1 STeTadl 2021 &1 Agel o @ET F 22500 1 HT 12% TEATHE & Y FT qUT 3§ TR F T
38b W 3 HAglel &I Tah fo@l | g o 38 TR fohar 3R T & AlgeT & argg & Gar | ¢
Al X f9er &7 $7arTeT Y & arar | |igsT T Gecdept # 3TaRIsh Ust=Arerar giafsaar ffSw |

On January 1st 2021 ,Mohan sold goods to Sohan for 2500 plus IGST at the rate of 12% and
drew on him a bill at 3 months for the amount . Sohan accepted and returned the bill to Mohan.

The Bill was met on the due date. Give journal entries in the books of Sohan.



sRgUs AT rquu va gfaTor aRwg W (FIREUS)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING RANCHI (JHARKHAND)
gfada grafas gdiem (2021 - 22)
SECOND TERMINAL EXAMINATION (2021-22)
gfaeel 92 93 (Model Question Paper)

ac - (Set - 3)
et - 10 Ty - arfosx JAT - 1.5 ger quiies - 40
Class - X Subject - Time - 1.5 Hrs F.M. - 40
Commerce

AT fAder- (General Instruction)
qitatreft JuyTEsg U ersEY A IW &I

1

2
0’0

(Examinee write answer in their own words as far as practicable.)

2
0’0

Tl el iy wEwT 19 B
(The total number of questions is 19.)

W 1 ¥ W 7 aF Afaergady wear g1 oA @ Bl ofg weat & IW wfwaw vF aww F AfSw v@Aw wea
FT AW 2 3% Ul 2

(Question 1 to Question 7 are very short answer type questions. Answer any five of these questions in

R
%

at most one sentence. Each question carries 2 marks.)

< WA 8 ¥ WO 14 OF YA WeeT ¥ 1A ¥ Rredl 5 weall & 3w NfUwaw 50 weal H AVwl vAF weer
AT 3 3w fuiRa #

(Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 2 marks.)

< 9T HEAT 15 ¥ W 19 dF QE3adT Wed &1 I & fhegl i weal & 3R rfWFasd 100 reat # HfSw)
gd® WA FT AT 5 3F fuRa gl

(Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in at
most 100 words. Each question carries 5 marks.)

faflrse fader (Special Instruction) :- @UZ ‘37 3ryar ‘@@ # & Rl v @Us & WAl F 3 AEAER & |



Answer the questions of either Part ‘A’ or Part ‘B’ as directed .

@US I} (SI9HT & dcd)

Part A (Elements of Business)

1. §gad 99 A +8d &2 (What is Allonge ?)

2. ¥R At aeg AT T & 3aR 96 & g &) (Define cheque according to
Indian Negotiable Instruments Act.)

3. el d&h #2471 g2 (What is forged cheque?)

4. TafSagareT gel@ & dd=T & &1 3MT §? (What is the meaning of Endorsement of a Negotiable

Instrument?)

faIT & 30T & 3T FIT TASIT &2 (What do you understand by Dishonour of Bill ?)

gSr T gRemT I(Define Hundi.)

% 3MFC T 3T FAT THST &2 (What do you understand by Bank Draft ?)

SATaRey AT 3eqare fafeg g7 A &) 3} fod| (Write two differences in Trade bill and

Accommodation bill.)

9. FUIfafuryr & 3mavae o&olt & ford| (Write the characteristics of Holder in Due Course ? )

10. oo &1 gerarel fAfy &7 9101 foney G T STt 82 (How the date of maturity of the bill is
computed ?)

11. FTYROT SO $r IRHT ford | 391 e 381807 &I( Write the definition of General Endorsement.

© N o O

Give an example.)

12.3@ifhd Ak T AT fohd FhR AT ST 82 (How to pay a crossed check?)

13. Hegdr fAf# T o &1 v @771 & | (Give a specimen of Time Bill of Exchange.)

14. sfafaagarey ersg $r carear | (Explain the word Not Negotiable.)

15. fafeiwer faus @or g3 # X Tos¢ ¥ (Differentiate between Bills of Exchange and Hundi.)

16. oo T TAAVATT Hr 4T HY| (Discuss the characteristics of Cheque.)

17. a9 & 3rAreqor i Fufad & g i S= arelr 3aenRedr3it &1 gofe &1 (Describe the formalities to
be completed in case of dishonor of bill.)

18. T duT [RAfA#T faug d +I5 g 37X o1 (Write any five differences between a cheque and a

bill of exchange.)



19. fAfa# T {Aux & 390 &1 guia HL(Describe the parts of Bills of Exchange.)
TUS d (FRIETdl JUT AdWRIFT & dcd)

Part B (Elements of Book Keeping and Accountancy)

—

fafere T &1 &1 31 § ? (What is meant by exchange?)
2. foor a1 § ? (What is bill ?)
3. gfauela efr & fhder @ra wenfad gl & ?(How many accounts are affected in two sided errors

?)

4. 39 @iar fhT YR &1 @rar g ? (Which type of account is suspense account ?)

5. g I foer ared 8l W ol & ofl@s & 9rg fohdel fdded &0 & ? (How many options does the
drawer of the bill have after receipt of bills from customers ?)

6. IRERAT fohcdal JhR &I gl & ? (How many types of errors are there ?)

7. St TQUT &l TARR Xl § 38 &7 ded g2 (What is one called who accepts the bill ?)

8. IRl &1 GUR T FAT 31 §?(What is meaning of rectification of errors?)

9. fder @I AT & | (Give the specimen of a bill.)

10. 3T @rar &1 § ? (What is suspense account ?)

1. gmaRe foel & 319 21 §87sd ¢ ? (What do you understand by Trade bill ?)

12.f9e & fohdel 981K 8 & 3R dia-ald ? (How many parties are there of a bill and who are
they?)

13. 3[eferdt & gurR @1 gefievor &Y (Classify the rectification of errors.)

14. fafaaa ux T Thegl 3 3TANFamsit & fordi(Mention any three utilities of bills of exchange.)

15. Q¢ S dTell ITefadl am AT elfadl s 31 §ASIST I( Explain the meaning of errors of
omission and errors of commission.)

16. 9T & AdIRIOT & 31T FIT FHASA & ? (What do you understand by the renewal of the bill ?)

17. cfaueiar 3REfRAl & UR @ 39 41 FASA 87 FUR el H1 fafer ga@ | (What do you understand
by rectification of two sided errors ? State the method of rectification)

18. o=t gem3it & foar &7 ¢ fafdar AwIfew (Calculate the due date of bills in following cases):-
felr Fr fafA(Date of the bills) 31af¥ (Period)

a. 30 3ma 2021(30 April 2021) 2 AE (2 month)



b. 12 #E 2020( 12 May 2020) 3 #TE (3 Month)
c. 15 &I 2019(15 March 2019) 15 &AT (60 &)
19. farafaf@d rEfRET w1 gur AT (Rectify the following errors):-

a. foshr 98 # 3250 A I3 9T § | (Undercasting in sales book ¥250.)

b. T &fae g @ AT T 200 & &MAT 31T & |(Purchase day Book has been undercast by
Z 200.)

c. fawa ¢ a8 &1 a1 T100 378 &emar 14T ¢ I(Sales day Book has been overcast by
£100.)
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